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Topic:- Child Development & Pedagogy (CDP)

1) The distribution of intelligence is not among all human beings./ It 'Flauﬁ & Eﬁ?l', g@ Ca)
fa=ur T8t 81

1. Moderate / HHH
2. Equal / JHIA

3. Appropriate / SUYdd
4. Same / Uh ST

Correct Answer :-

o Equal /HHIT

2) The primary focus of a formative Assessment for learning should be: / 3R & ﬁl'q U RiY®
Siwa- BT YIS A g1 a1fge:

1. checking the classroom presence of the child / T B HaT H SURITT Bt S BT
2. checking memorizing skills / HUT e BINS B S HRAT

3. help in improving writing skills / a1 I ﬁ?ﬂ?ef T Aeg oAl

4. understanding the gaps in learning / ST A iR P HHAAT

Correct Answer :-

« understanding the gaps in learning / ST H SR Bl HHAT

3) Mohan is a 13-year-old 9t class student with a mental age of 16. What

type of child is he based on his IQ scores?/'Fﬁ?q' 13 aﬁwﬁ?ﬁﬁ&nmw%, WW\H’I’EIG
21 9% A gfS TR & YR R {59 YR &1 =01 32

1. Imbecile /'H:Ehﬂti?;r

2. Genius /Elﬁf‘l-l'la'l:f

3. Above average / AT HW
4. Superior /aﬁg

Correct Answer :-
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« Superior /aﬁfg

4) What is the Freudian stage of psychosexual development in which children are toilet trained known as? /

ﬁﬁ?maﬂmmaﬁwwm%ﬁﬁﬁﬁiﬁa%mmﬁm
ST 82

1. Latency / 3[TaadTa=T (e )

2. Phallic / oI TeTTa=AT (Wfcetan)

3. Oral / RTART (3R)
4. Anal / TJGIIRIT (V)

Correct Answer :-

+ Anal/[QId®T (TAcT)

5) What is Progressive Education? / rfasite ﬂT&‘IT T %?

1. It has standardized testing / sﬂf{ qﬁaﬂ% tIi)[&'l'UT Eﬁ?ﬂ %I

2. It is Learning by doing / S0 Bd gU R (@ a8 g5m) g g1
3. It is data-driven learning / 3T Sel-3TeTRa e 1 g1

4. 1t has standards-based curriculum / 3TH HTDh] U TR UTeThH BIdT 2|

Correct Answer :-

o It is Learning by doing/sﬂﬁaﬂﬁ@ STy mﬁﬂaﬁm Eﬁ?ﬂ%l

6) is called maturation. / &1 uRgedr ‘el SITdl %I
1. Family intervention / W %’1?[8311

2. A change due to cultural influences / W UHTAl & BRI Udh qﬁ_d?h

3. Natural biological development / HTg e Sifdd faemT

4. Change due to environmental pressures / TOTGRUNY G&Tdl &b BRI UREd

Correct Answer :-

D

+ Natural biological development / Ul Idh \?H D [dn[d

7) study is applied to study in which some of the individuals have been measured on at least two
successive occasions / 3T B FI'IT‘[W *» ﬁl’({' 3y fbar |rdn %, oo @ PO
Hferal &) FH VA FH &) TR HGTRA YR /YT 1T 2

1. Extended Longitudinal Method /ﬁﬁTﬁH Hﬂ%ﬁﬁﬁ
2. Longitudinal growth/ Hﬂ%ﬁq@

3. Cross Longitudinal Method/ 19 3ﬂ‘l-ﬂ7ﬂ'q faprg

4. Mixed longitudinal/ EIEG &ﬂ%@f
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Correct Answer :-

« Mixed longitudinal/ fHT3d 3‘|a%ﬂzf

8) The main objective of ADIP scheme is to provide to persons with locomotor disability. /Q_éﬁ\?ﬂg'tﬂ

T &1 4331 e/, Ad AR Raimarad afcai & weH ST |
1. Disability certificate / TGS TATOGR

2. Employment / SR

3. Education / TRr&f

4. Aids and Appliances / 9glIh 3R JUHT

Correct Answer :-
« Aids and Appliances / Tg1ID 3R JUHROT

9) The three major themes in Vygotsky’s Social Development Theory are: /Wﬁ?\‘ﬁﬁ & qrIfoTe

faeT Rigia A 9 uga fawa §:

1. Cognitive Apprenticeship, Social Interaction and Reciprocal Determinism. / ST D QﬁT@T RIGISED
FEHIATT 3R URERS® MyRurarg

2. Cognitive Apprenticeship, Legitimate Peripheral Participation, The Zone of Proximal Development. /

TS UiRIe, a9 aRefig yrferd), THo fasm &1 &=

3. Re(nprocal Determinism, Reward and Punishment, Classical Conditioning. / Wﬁm CﬁT\‘:I'IE:I
3R &3, ARG 3B (FARIbd Bal=If-T)

4. Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BILISED

TR, THUR fJhTT o1 &4, 3177 31 J19 Jud

Correct Answer :-

« Social Interaction, The Zone of Proximal Development, The More Knowledgeable Other. / BILISED
FEHTITAT, THIURY fahTd 1 &3, 317 31 J U=

10) Ability grouping is a kind of segregation of the to provide greater opportunities of interaction
and stimulation. / FAR fef 3R ST ¥ TR SR IGH T P RUemaaged, &
TP UPR BT JUTHI g

1. Disadvantaged / dfra
2. Normal / |THT

3. Backward / q%la?ﬁ

4. Gifted / UfQTHTAT

Correct Answer :-

. Gifted / UfaHTE™
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Language development in children follows the Principle of / g # YT &7 faerg Y Rrgia & sfavia giar

1. Integration / TDHIHRT

2. Uniform pattern / Yh Y Te

3. Continuity / e

4. Individual differences / TGTd FH=dT

Correct Answer :-

o Uniform pattern / ThU Te

12) Direct method is also known as : / Ucd&l fafa =t ER KR H oft ST Siar %:
1. Direct approach / UI& E¥HI0T

2. Inductional approach / RS EHIT

3. Natural method /W fafy

4. Indirect approach / TUI& MBI

Correct Answer :-

« Natural method / W fafdr

13) In collaborative learning, it is better that the students go through ./ m"ﬂ ST ﬁ:, qg Q’G'?R % f&
GIE| & AT A AT

1. Self-assessment / ¥dd: bl

2. Formative assessment / RAI[HD 3{Th e
3. Peer assessment /Wzﬂ b
4. Summative assessment / TS SHThaT

Correct Answer :-

o Peer assessment /ﬂTzﬂ 3Hibe

14) Rating scales are used to measure / P AU & i%nz #H fAufRor o= (%%T W) BT IUYRT
fear ST 81

1. Intelligence / g@

2. Attitudes / fo\ﬂ-l?gﬁr

3. Achievement / R
4. Skills / DRI

Correct Answer :-

« Attitudes / \?rlﬁ-l?jﬁf
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15) Which of the following disorders is caused by an extra twenty-first chromosome? Fafafead I s an

fPR te ifafied so19d TR & FRUTEIAT R?

1. Phenylketonuria / mﬂtﬂ

2. Down syndrome / 813 RigiH

3. Turner’s syndrome / T 1% &1 IS

4. Sickle cell anemia / GRICH BITRIHT SRadT (Ridvel Tal T

Correct Answer :-

+ Down syndrome / ST3+ ﬁl@q

16) Which of the following will occur if the stimuli of the first task is greater in similarity in the second task?/

frfafaa & @ o1 gk afe ugd ord &Y S7oHT, gaR S § JHHaT 9 Sifer 82
1. No transfer will occur / Cb\I%r ot R qﬁ?ﬁ'ﬂl

2. Extent of transfer will be minimum / RITFTARUT &1 fadR YAdH g |
3. Extent of transfer will be less / RITAIARUT T fA%dR &H G|
4. Extent of transfer will be greater / RITATARUT T fawarR sif¥e ghm|

Correct Answer :-

« Extent of transfer will be greater / RITATARUT BT fowR a1fd® é]‘l I

17) Which of the following statements best defines motivation? /Frafefaa # 9 S9-91 FYT IR $Y =St
aRE uRuTia wvar g2

1. Internal state of an individual that arouses, directs, and maintains behaviour./ ot safad ot siiaikes fRufd s
FAER DI ITford el 5, MG BRe & SR T & H 5 |

2. State of one’s emotional strength to respond to difficult situation. / Hic" uRUTT &1 Sae ¢+ & e T
S IERICERNICREANIIC]

3. One’s ability to demonstrate discipline. / STIRITHT UcRId & B &
4. One’s ability to do a task quickly and neatly. / Tt B1f 1 STee} 3R ST dip T B B AT

Correct Answer :-

o Internal state of an individual that arouses, directs, and maintains behaviour./ W a:r%f ﬁ \}W @Jﬁf Gﬁ
HAER P IO BRcl 5, FaiRId BT § SR T1Y @< 5|

18) Which of the following is not characteristic of a relational learning style? / Fafafead = Udh

HauTs AT Aedt &t fagwar 781 82

1. Sequential thinking / &W -

2. Perception of information as part of a whole / W Gk NEEL DI YR
3. Intuitive learning / Fg o T o HfERTH

4. Improvisation / T[T T dTbIieidh TR
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Correct Answer :-

« Sequential thinking / W BIES

19) Which of the following teaches parents a range of techniques for controlling and managing their children's

symptoms, especially with children diagnosed with conduct disorder? / ﬁ‘ﬂ’m ﬁ' ﬁ a’ﬁ"_{ m’ W, Hrar-fuar
&1 U Tl & A& i FrERd B 3R yalta w3 & forg § et @ s 9= fiRlv w9
TRl fIPR (@sae fSHaiisy) A Rifsasas?

1. Parent training programmes / ai_t‘f aﬁ"T m

2. Functional Family therapy / Eb—l'qw tlﬁ?ﬂT W
3. Systematic family therapy / YU Trfret 2Rt
4. Play therapy / o AUt

Correct Answer :-

« Parent training programmes / e al?‘i‘ TR

20) What among these are not personality traits?/ ?F‘lﬁ T 471 Sfeded AT qﬁ%"
1. Thinking-feeling/ foaR- Y

2. Judging-perceiving / 3THA-THIT

3. Sensation-intuition./ HAG-I- 3fc: U

4. height-color / P G-I

Correct Answer :-
« height-color / G-I

21) What is a rule that always leads to a solution if used correctly called? / 3 [EeE Ak bl SIldl % Tl
THRI U HHTYTH 9141 § afe SBT Tl &7 & I foman sir?

1. Heuristic / ¥dd: MY (@gﬁ@m
2. Algorithm / QAN

3. Information processing / T TRIDHT

4, Stereotype / -\’?m @ﬁﬁm
Correct Answer :-

 Algorithm /U@ IIES2]

22) What type of attention is displayed when a child focuses all his attention on the task at hand, ignoring other

information? / Td P13 =T (YT YRT ST (U1 BT W Higd HeaT 8, 3R 3= Jar3ii &1 st
$d1 ¢, df {5 YeR &1 sraur= uelRia gar g2

1. Selective attention / IATHD HIYUTT
2. Simultaneous attention / FHBITTD YT
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3. Divided attention / fTdHdd 3{aeT
4. General attention / FTHIST {dYUTT

Correct Answer :-

« Selective attention / JYTHD YT

23) There is an addition of information to the existing information in learning./ SRt o

Hie[eT SR & 1T Ue sifafved SFert 21
1. Sporadic / w

2. Spiral / GG

3. Linear / XA

4. Disjunctive / foantt

Correct Answer :-

o Spiral / gfta

24) Who among the following did not propose a trait theory of personality? /

Frufifad § 3 o safeaa o1t fdivar Rigia @ @) uwarfaa 7 frar?
1. Hans Eysenk / 89 394%

2. Raymond Cattell / YHS Hed

3. Albert Bandura / 3cSC SUGX]

4. Gordon Allport / TTe 3TAUE

Correct Answer :-

o Albert Bandura / W ETU@T

25) An individual achieves the masculine or feminine social role during ./ T& Afaa

_____ & ERMURSY 91 30T AT HfeT Uid SRar g |
1. Childhood / ST (T3S gS)

2. Adolescence / forRRIa=RIT

3. Late Childhood / U@ S90H (7 A13¢SgS)

4. Infancy / Q%19

Correct Answer :-

. Adolescence / fHRIRERIT

26) Meta components, performance components and knowledge acquisition components are categories of:/ ﬁET Ych,

Sy ged 3R 9 Wifey gee fr & A fpas 3o §:
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1. Tripartite Theory/ ruait Rgia

2. Triarchic Theory/ [ECALIR] ﬁ@ﬁ

3. Allport’s Theory/ e &1 Rigia
4, Eysenck’s Theory/ W P Rgid

Correct Answer :-

e Triarchic Theory/ [ECaALIR] I%@ia

27) CANCELLED

Which of the following is not a use of an intelligence test? / ﬁ?ﬁ'@ﬂﬁﬁﬁiﬂﬁﬁﬁ&ﬂﬁmﬂ
Tl garg?

1. Selection of students for scholarships /W%WWWW

2. Evaluation of teacher’s performance / 18 & Tg=H &1 i

3. Grading of a student /WWﬁ IRl

4, Predicting a student’s success / W@'ﬁaﬁ O A DI &Ld?jHH HAT

Correct Answer :-

« Grading of a student /W?ﬂﬁﬁ IRl

28) Skinner advocated that learning was more likely to occur when/ PR 7 gPTaa ot o Jaa 1 Guren
a9 31 il ¢ o1

1. Explaining public events or observable behavior/ grdSife ge1sil a1 Sadie-y AR P RS HRAT|

2. Observation of a behavior is followed by modelling/ Uch dgIR bl 3gelih Hﬁl’&‘f GIX] foar Srar %I
3. Behavior becomes a reflex response to stimulus/ 9IdgIR RECEIKT ﬁ'rq Udh yfaare ufafear a9 ST % [
4. Behavior is reinforced with a reward or punishment/ 9IdgIR Ca Udh g-TH g1 Holl & g1y Uferd fpar Sar % |

Correct Answer :-

« Behavior is reinforced with a reward or punishment/ JdgIR Cal Udh g g1 golT & 1Y Uferd fear Sar % |

29) Which one of the following methods is used to study the behavior of an individual in its totality? /

fFrafafaa A @ fea faftr &1 Sy fedt safdg & uagR &1 39S IHYaT § ey #31 & fau
o s 82

1. Observation Method / 3faciids=1 fafer
2. Experimental Method/ WRRTI&S fafey
3. Survey Method/ Sa&ur fafdy

4. Case study Method/ &9 %Sl fafy

Correct Answer :-
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. Case study Method/ &4 %8l fafd

30) Which of the following is a projective technique to assess the personality? / ffeafafead @ 3’3'7{ H

WU B iR BT 3THAT I & T gl & 2
1. Rorschach Ink blot / IR WTE! T YT (D SHIC)
2. Interview / HI&TH R

3. Questionnaire /IHTC

4. Observation / a&‘rUT

Correct Answer :-

« Rorschach Ink blot / IR b TTet BT YT (ﬁw WTE)

Topic:- General Hindi (L1GH)

1) TN T 91HR a1 o,

ARUr wmen w1 e ITEist |

ATHR TG, a1 AR, 4 IS 0T U |
fieRTas & por weft &, Mfdg dfar =)

B F GRHOT UTRY, GARYT U @Rt |

YT YTt ST uRay, <fi arat avdt

HR e Farer |ig, Td doid! qre|

fieRTa ® 9 =R, Mg gl are|

G, a1 ed qund e faa wg et

HIIAT I G UIRY, U6 S A5 |

et 7 UY TRHOT, T STHATSH I AR |

R 7 9Y AR AR, fRast gon srefRT

ST TR B U@ 12 TS 91 91 YR $T I« 9a13¢|
e iR & g RS 5 weT AT R
1. SR B

2. U B

3. &M &l

4, TaTd B

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

B IR AN @Y, 1 IS gIa01 urg |
fiemTa & oo TRt B, Mfdg e T
B A GIAVT YR, GAROT 4T @R |
YT YTl ST uR, <fi arat wwedt
AR PTe HanaR e, Td deidl Jre|
fe=mas & 99 =19, Wi gRell are|
&1, 391 Hed qurd foe g IRg st
TGN I G0 U, UER Hgw A |
et 1 Uy EeHoT, ST STHATSH /1 Ri |
RT3 Y ARER AR, fRas) gun erefiRy|
ST UL B UgHh 1 U 11 a1 U= HT Ik 9a13¢|
T <SR’ Mg T FT AR 32

1. Haa 3R bR

2. Had T Giax

3. 590 Q IS Tl

4. IR TR SR &I TR gt

Correct Answer :-

. IR AR 3R AT Wepx A

3) WH M 16 Il ot

R aren 1A IR I@iSh |

ATHR TER 91T AR (A 36 =01 U |

faeRTas & por weft &, Mfde far T

ATHL B GIAVT YR, FAROT U] @Rt |

yTg el AT o, <fi et wwet

AR e dansr die, Td deid Jrer|

figRTa # O R4, Wig= gl qrarn|

&, a1 ved qund e faa e et

HIIAT I G URY, TeX S| A5 |

et 1 wY T, St STHATSH /1 A Ri |

RT3 Y ARR AR, fRas) gon srefRT

ST UL B! U@ 19 TS 91 a1 YA $T I« 9a1s¢|
TR “GHROT URY WA | Haf=i ST o1 3= 872
1. S0 A PIS T8

2. HUT HT YR 1T od T

3. IR YR T g1 S

4. gRAA @ sgd 8
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Correct Answer :-

« P BT GERA 51T ol e @

4) WTH B IS T o,

AR YT aren w1 9T I@iSH |

YTHR e, IR AR, Fd IS 07 Uy |

fareRTas & por et &, Mfde far =)

AT W TN TR, GHROT UG TRt |

YTT WAl SRR O, <fie] et Rt

R PTe HanaR e, Td deidl qre|

faeRTa & 99 wR14, Wig= qRelt aran|

&1, Fa1 ved umd fa fog IRg e

ATaAT I R U, Uex P A1 |

et 1 Uy EHoT, St STHATSH /1 dRi |

RT3 Y FARER AR, fRas) gun srefiRy|

ITT Ui B UgH 1 U 11 a1 U= o1 Ik 9a13¢|
TR $W1 G B ATHA HRT 0T A Hel 3R 9 eI 31 B {3 Felt 82
1. 30 GRAR

2. 31T A DI IGAT I W

3. RIS R

4. GR®T H FoR-FaR

Correct Answer :-

« 31t 7T B IGAT dE R

5) T T B Gl o,

T wren w1 AT @St |

TP TG, IR AR, 4 3 0T U |
fieRTas & oo wTeft &, Mfdg dar =)
ATHL A GIAVT YR, FAROT U] @R |
YT YTt ST uRay, <fi arat avdt
HR e Farer |ig, Td doid! dre|
fSeRTa ® O R4, Mg gl are|
&, Sa1 e d qund fae faa v et
HIIRAT I G URY, U6 T A5 |
et 1 UY EoT, At STHATSH I A Ri |
R 3 9Y AR AR, fRast gon srefRT
I TR $1 U@ 17 TS 911 a1 YR $T I« 9a13¢|
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U=: $OT P Ui T HRT 9 R AT 0P B AR 82
1. Had I

2. HId B

3. FHR AR G a1

4. FTH A DI ol

Correct Answer :-

o TPHR 3R PR ST

6) I WA ISR Il o,

AR YT aren 1A 9T IEiSH |

AT TER 91T TR (A 36 01 U |

fereRTa= & ot Telt &, Mg e Ry

AP H GRHVT UTRY, GHROT U] @t |

YTT YTt ST ur, i et a—edt

TR PTe HanaR We, Td duidl Jrer|

faeRTa ® 99 =R1a, e gReh aran|

&1, ST Hed qund forg fog Ig ard |

HTafAT I ST IR, TSR FH AT |

et e Uy gwor, St STHATSH /1 dRi |

R I Y FARER AR, fRas) gun erefiRy|

I Uil B! U@ 19 IS 1 aTd YR $T I« gaTs¢|
ULH: W B N B | WRT F a1 g1y sime
1. AICt a6

2. FTHAPO T8

3. AT 3R TERd

4, TR T4 GARA

Correct Answer :-

- 32 wd g

7) T T A6 @l S,

AR YT aren 1A IR I@iSh |

ATHR TG 91T AR (A 36 01 U |
faeRTas & por weft &, Mfdg dar =)
ATH F GRHVT UTRY, GARYT U @Rt |
YTT YTl ST o, i, et a=edt
R PTe HanaR We, Ta duidt qrar|
Wﬁﬂaaﬂ%ﬁﬁmml
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S, o1 e qumd e R g A

WG I TRV URY, TR Pyl A5 |

STeft 31 WY Gor, sl sreTSi 7 <R |

HRi ¥ Y FRER ARR, feast goi srefiRT)

ST UL B U 1 U W1 a1l U= HT Ik 915t

UA: $AEA Fg1 B o1 feral | Midg Pt e M ge e
1. Mpd B

2. BRI P

3. 4aIa- &1

4. GRPI B

Correct Answer :-

. g Bt

8) W WA ITa Il o,

AR aren 1A TR IEiSh |

TP TG IR A, 4 3 0T Uy |
figRTa & Ho Telt &, Tiifde offem )
AT H GO U, o1 UG R |
YTg el WY T, <fi] et wwet
R PTe HanaR e, Td duidt qrar|
faeRTa ® 99 =13, Wie gReh aran|
ST, a1 Hed und fora fora g amsh
HiafaT I G Uy, UER S A |
et 1 Uy EoT, St STHATSH /1 AR |
HRi 31 uY AR AFR, gt guit srefRT
I Uil B! U@ 19 TS 1 a1 YR $T I« gars¢|
UL: FafE A -4 & 5 31 3 91 uge o w1 A fieq Ftaa $i @2
1. el ATSt

2. AT UeR

3. GidieRt Ugh

4. Py TSt

Correct Answer :-

9) WTH M ATHR Il oft,

R aren 1A 9T IEiSh |

TP TG, IR AR, 4 3 0T U |
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figRTa § o= et |, Mg <ftear )
ATH A GIAVT YR, FAROT 4T @R |
YTg WITelt AR ur, i arat TRt
R gre faner A, e duid arer|
fe=TaT § 99 =19, Hig gRell are|
&1, 31 Hgd qurd foe e IRg et
WG I TRV URY, TR P A5 |
et 7 UY ST, St STHATSH 7 i |
T a4y FARWR AWR, feast gon arefii|
ST UL B U 1 U W1 a1 U=A $T Ik 9a1g¢|
W TRTETS BT WTT-edt it 82

1. HIoqAfaifyT e g

2. 3T HTT B ISR 61 Ye §

3. 3T A DIS a1

4, R & Fyad-gedt &

Correct Answer :-

o JABT U H ISR BT §

10) T B IIHR a1 o,

AR aren 1A a1 IEiSh |

TP G, IR A, 4 3 0T Uy |

figRTa § oo Telt &, Tifdg offem =)

B H GRHVT UTRY, GARYT U @Rt |

YT YTl ST uRa, <fi arat w=edt

R PTe HanaR We, Ta duidt qrer|

faeRTaa ® 99 =19, Wie gRel aran|

ST, Sa1 HEd 9unTd o fg IRg e

HIAT I G UG, TeX S| A5 |

et 1 oY Ewor, St STHATSH /1 6 Ri |

RT3 Y FARR AR, fRas) gon srefiRy|

I TRl &1 U@ 19 IS 1H a1 YR $T I« gaTs¢|
W=: WiRT AT (U U FIT IgH B 9T B 81 82
1. T AR IY

2. HUS-

3. Y19 Td Hfdq

4, T 3R YT

Correct Answer :-
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11) TTH B 6 341 o,

AR YT aren 1A IR I@SH |

ATHR G, a1 AR, Fd IS 07 Uy |

fieeTa & oo TRt B, Mfdg e T

YTt F RN U, JHRYT U @R |

YT YTt ST urR, <fi arat wwedt

R gire FranaR e, Td Jsidt qre|

fe=ma & 99 =R19, Hig gRell are|

&1, &1 Hed quird foe g IRg et

TGN I G0 U, UER Hgw A |

et 1 Uy EeHOT, St STHATSH /1 dRi |

R 1 Y FARER AR, fRas) gun erefRy|

ST UL B UgH 1 U 11 a1 U= HT Ik 9a13¢|
U= WRT A 3194 UG § HEl a1 T B 357 o Bl 82
1. $9-$d Hgall & ad

2. GQRI & Mg o

3. dedsWad

4. OsdTd

Correct Answer :-

« $A-Fd Heell b S

12) T B 916 41 o,

AR YT aren 1A IR IEiSh |

AT TG 91T AR (A 36 01 U |

fieRTas & oo weft &, Mifdg dar =)

B F GRHOT UTRY, GARYT U @Rt |

YTT YTt ST o, i, et a—edt

AR FTe dansR die, Td deid Jrer|

fieRTas # O W19, W= gReft arem|

&1, ST ved Ui fa fae g e

HIIAT I G URY, TeX S| A5 |

et 1 Uy gor, St STHATSH /1 A Ri |

T I 9y ARR AR, fRas) gon srefRT

ST UL B U@ 17 TS 91 a1 YR $T I« 9a13¢|
U: 9 YIG-Ga8 HIRT NHR 76 $1 & Wgd W aRIE it af &1 gim?


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. H1 % &= gl S
2. IRT AgAgM TN

3. QTATaRT YATRId R
4. d RGd I

Correct Answer :-

. PO P G B G

13) T B 91HR 41 o,

AR aren 1A 9T IEiSh |

TP TG, IR AR 4 3 _Aq0T U |

fieRTas & oot weft &, Mifdg dar )

ATHL B GIAVT YR, FHROT U] @R |

YTT YTt ST o, i, et =t

R PTe HanaR WR, Ta duidt qrer|

fe=Ta & 9 9R19, Hig=T gRel are|

ST, ST Ued Ui fa fae g e

AT I G0 U, IR Hgw A |

et 1 Uy Eor, St STHATSH /1 Ri |

HRi 9y AR ARR, fRast gon srefiRT)

SIS U B U@ -1 U o1 a1el U9 FT IE ga1se |
W: §9 UG § URT A fhast axw W1 71 qui faar g2
1. /Mg

2. Hfdd

3. 09

4. Ul

Correct Answer :-

14) T T A6 I S,

R e win AT IrErSh |

TP TG, IR AR 4 3 _A0T U |
faieRTam & ot el &, Tiifde oftem )
B F GRHOT UTRY, GARYT U @Rt |
YT YTt ST uray, <fi arat avedt
R PTe HanaR WR, Ta duidt qrer|
fagRTa & 99 919, Wig= gRelt aran|
&1, Sa1 Hgd qurd e e IRg et


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

HiaRAT I GTHU URY, UgR YT A5 |

et 3 wy v, et sHeTSi 31 AR

HRi 31 vy AR ARR, gt gun srefRT)

I UL B U 17 TS 91 a1 YR $T I« 9a13¢|
WR: TR Ug A HRT & fhy Ut &1 U aur g 82
1. S 7ol

2. YU HIg

3. HidkI-HTa

4. 99-4Td

Correct Answer :-

. Yfgd-vma

15) CANCELLED

WITH T I @1 o,

ARur wmen w1 a1 ITEist |

AP I§, 91 A i 33 =01 Uy |

fareRTam & o el &, Tiifde oftem =)

AT A TN YUY, RO U &Rt |

YT YTt ST uRay, <fi arat avdt

AR e Farer dig, Td doidl qre|

faeRTaa # 9 =19, wie= grefl aren|

S, S wew Some e Rrg TG

HIIAT I GIHT URY, TeX S AR |

et 7 UY GRHT, ST STHATSH I R |

R T Y AR AR, fRast gon sy

ST U= B U 1 U W1 a1 U= $T Ik 918t
WRA: URATT TS § 631 31 g7 Haft gt 2
1. Iearyuf

2. &I

3. g

4. 9gd gua

Correct Answer :-

16) e &1 TF NYFF =0 ITUMN 3| IUUTH FT 5+ fife I gon ot ¥ vor =i+t snfaser 21 fife & $rRor Su=a
TS 98 TYE 9 Ugd UT| ST ) e 91 geand aasdl adt A g3 8, 5 srorevdl udl # oo welt welt | §ds
IRURY® ST a7 & SraTar A wer ot & @b W TRl & T4 UTe® S| US| Bt WS T & A1 T AGdH! Bl
3THET Tg1 T | SHY AWS! B THSTT 3R Fefd ot & TE1 J STeird} el 3R T siftres wad gl foreq &t erw


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

AP AT A Aelt § A-TdTe IGTd B DI IR g A Wad ¥ | YT YT A SUUN A1 gid ¥ 3R T i &1 uga o
WA A1 1740 B fHTA IR IeA AT QRABTEAl Bt RITIAT & IUART @il Bt uga F o 1A | fife Tenvareh & &3 gui &
TTY Y ATHFAT F T2 aP! A ITU Ft At ge 3R g0 70 H1 | Hag frelt | Igrevur & e wiy & $© yar=re!
D1 T T | 31 T b IU=IRT Y e & Rare | fman iR 3 & 959 GATHT HHRIT o AHdT g1

Sy=arat ® fRifya g oiftre arafae gt <t ok gafne faygar &1 iar d ot <t Su=amr ued wwa urew smarh
WV I & UL Bt gFaT & TaT ST 4TI SRR A AR B1 Ui B U B TSI & | ST A ATl Y 39 a1 Bt
Jrerrdl off €t for @ ardwAe ufva=r # ue I 3R wer iR Tl B 9 | N1 SR SURITH & IiEl & oftas § Srae 3y
P ATHATT BT Ad A1 1836 7 AR FEF o) Upfaw Tudd #) ve ulier & uraifies & $u A ueiiRia far mar| uien
TEN gt off 3R o F wR QR Belt Y | eRTafR e & Fu A S [ A F WA 947 Tgan o o et geig W A A1 3
PEMI P ATA Wi P AR A I F 3T HATE & 3T BT Sa9IR B A | T8 P SR & Aiged & f[Audia, Su=aral #
ITSIT 91 TS $ HeT 781 gt N afew aremor al &1 ard gt <ff | Shrdt 9t & gRiu # i g 3= 8y g 4l
SMefieRor & U ok 13 Iuie oft A ot gt ok TorgRY 3R =ret iaw &Y waw? ot @St g5 ff I g s A
FHRI ATYRUT HoTgR g1 AR Qe AT

UG T B UGHI 4 D T U BT IR qa1gy|

U: a1 feoh o Refas Tl oY ves ufiier § we yoiira fasar mare
1. 1871/

2.1870

3.1874H

4.1836 H

Correct Answer :-

. 1836H

17) T &1 TP NYFI® =0 ITU 31 IUUTH HT o+ fife | gonm st ¥ vor u=h=it snfaser 21 fife & sro Su=a
TS 98 TYE 9% Ugd UT| IU-ATH ) e 91 Yeand Taedl adt A g5 8, 5t srorevdl udl # o welt welt | §7ds
IRUfY® ST a7l & sraTar A weg ot & @bt o STl & A UIe® S| UISd| Bt WS T & A1 T AGH| Bl
3THE Tg1 T | 3HY AWS! B THSTT 3R Fefid o¥f & TEUT | STeird} firedt 3R T siftrer wad gl foreq &t | erw
AGH U A Aeht & AR TGaTd HIA B T aRE | Wad A1 YE P A ST g g & 3R T A B ugw @
A A1 1740 B fATA IR Ie 10 QREABTEAl Bt RITIAT & IUART ARl 3t uga F o 1| fiife Tamvaroh # &8 guri &
Y Y ATHEAT & T TP A ITUTH $t A9 IgT 3R g0 FH B | Hag frelt | Igrev01 & e Wi & $© ybr=re!
B A g & 3 T fh IUURT Y e F fFATe | fHvrar iR 3 A 959 GATET HHRT o GHaT 2|

Sy=arat ® fRifya g siftre arafae it <t ok gafme faysigar &1 i d ot <t | Su=are ved awa urew Smari
A U & UL Bt g1 & TaT ST 4TI SUAR A AR &1 Thid § U &1 TSITe! &f | ST = AT Y 9 a1 Bt
3rerrd +ft &t fp 3 Irdwifae ufvdsr A ug O 3R weT uR Tl &Y 9P | TR SR U= & il & Sita= 9§ 3179 Mg
P ATHATT B Ad A1 1836 T IR F3F o) Uwpfaw Tued #) ve ulier & yraifies & w0 A uetiRra fear mar| ufen
TR B1elt off oz ol & WRR gielt off | YRTaTR® & U H o [ AN & T 947 Igan 31 RO AT uig it wRa 41 9
PEMI P AT Wi P SaoTR A M F 3T HTE & 3T PT SaoIR B A U P SR & Ay & fAudia, Su=aral #
TSI T AT B BT AT gielt o afp Aremor aen & o gt Y | Sehiadt wdl & gRiu & Sienfires 31 3% 81 gor Tl
SefieRor & U SR 13 Iuie oft f ot godt ofk HorgRY o =gt Sitaw &Y wawd oft @St g3 off | g F s A
FHRI ATYRUT HoTgR g1 AR QT AT

IU TR B UgHR 1 IR T Y= BT Sk Jarsu|

T 5 31 & YT T o1 @ o SURIT FRRT UR 3T STeT AHvE 22
1. foea

2. 71

3. S

4. AR

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

18) Wi &1 & MY FU IR 71 ITA &1 o flic I gan & f& ve wxii+t snfawer 31 fiie & s su=am
T 9 IYE 9% Ugd U IU-ATH &) fore 1 geand aagdl Ol A g3 <&, S sroterdl ud) & e welt welt | Sds F
IRUN® SifieITd ot & Sramar i e ot & @hr oft ITa & A UTew 99| UTSw! Bt W/ dgH & A1 § AWd! Bt
TG Fg it | SUY AWD! B U 3R Fefia Tt & T&0r I Srerrdl firedt 3k 3 eiftres wad gl foraq @t ew
AGP YT A LAl A AR Teard B B T a8 I Wad A1 YT P A SUUY g1 g A 3R T A B uga @
WA A1 1740 B fHTA IR IeA AT QRABTEAl B RITIAT & IURT @Rl $t uga F o 1| fife Tevareh & 3 guri &
T 1Y ATHIET & 1A adtd! A Iu=Ar B faept gg iR g &9 $ H Heg frelt | 3eerur & i i & $0 yariea!
B T g | 31 T fh IUURT Y e & fFare | fman iR 3 A 959 GATET HHRIT o GHdT 2

ST # fafia g siftre arafas gt At ok gufen fayeTaar o1 e & st 2| Su=amd ued 99y ure s ST
A U & U] B gi-ar & Tar 1T AT YRR A AR B1 UHid | UgH Bi TG &t IU=ATH = ARN DI 59 91 B
3rerrd +ft &Y 6 @ Irdwifare ufvdsr # ug O iR Pl UR wai B 9P | 6T SR U= & °iE] & Siia— 9§ 379 3
P ATHATT B Ad Y1 1836 7 AT TP o1 Upfas Tuwd #) ve ulier & yRTaifie® & $u § uepiiid far mar| uen
T gt A ok ol @ wRgR gt off| uRTarfee & = u A e [ AN W WU 94T Igar AT o @it wig W wra A1 d
PEM b AT Wi & aoTR A M V AT AT & 3T FT Sa9IR B A Ugd & SR & Aifecy & faudia, Su=aral &
ST T ATHTST B Tt 81 gt N afep wremor an &) ard @it off | Sfadt ad & gRiu & shenfre g 3 8 gt A
SMefieror & T 3R 73 Iuie oft A ot gt ok worgRY 3R 2ret siaw &Y waw ot @St g3 ff I g Fr s A
FHRI ATYRUT ToTgR g1 AR Qe AT

ITYa TR Y Ugh -9 D T U $T IR Tarsy|
: fAr IR g aTel qEIPTadl B RITIAT 69 §52
1. 17459

2. 1850 H

3.1756 9

4.1740 ®

Correct Answer :-

. 1740 ¥

19) e FT TF NYFIH U ITAMN | IUUTH FT 94 fiie I gon ot i v w=hi=t snfaser 31 file & $RU IT=a9
TS 93 WE a9 Ugd U SUATHI 3I e 3t Y ama Fagdl 981 # g3 A, S sroTevdl udt # e welt Gl s &
TRuRY® feTa a7 & srarar A wer @it & @b off TRl & AR UIe® S| UTS ! Bt S T & A1y T AGH| B
AT g8 1l | S AE@D! B ARSI R Peli= o b W&o A el el 3R A aiftre wdw gl foram &l o
AGP U A LAt & AR TGard B DI T a8 T Wad A1 YT I A SUUY g4 g A 3R T A B uga @
WA A1 1740 B fHTA IR IeA AT YEABTEA! Bt RITIAT & IUART @il 3t uga F o1 M| fife Tevareh & 3 guri &
AT 1Y ATHIET & 74 adtd! A I 1 faept gg™ MR g &1 F3 H Heg frelt | IRl & fi i & $0 ywmia!
D1 A U A 31 T fF U=y Y " & fRare A fHwman wR 3 A 9gd GAIST HHR o Jhar g

Sy=arat ® fRifya g oiftre arafae gt <t ok gafne fayeigar & W & ot <t Su=ar ved awa urew smarh
A I & Ul Bt gFaT & Tar ST 4TI SUSART A AN @1 Ui B U B TSI &f | SURIT A @ Y 39 91 Bt
3retrdt +ft &Y o @ Irdwifare ufvd<r A ug & 3R FeTl WR Tl &Y 9P | @R SR U= & Al & Sita— 9§ 3179 Mg
P ATHTTT B A A1 1836 B I 334 T} pfaw T @) ver vl & urtaifes & 3u & ueifRra favar man) uferg
TEN gt off 3R o F wR QR Belt Y | eRTafR e & Fu A S [ A H WA 9497 Tgar o o At geig W A A1 3
PEMT P T Wi P AR A MTH A AT HTE & 3T BT SaIR B A | Tgd P SR & At & fqudia, Su=aral &
ST AT ATYTT B BT T8 gl o afep Aremor ae &) ard it ff 1 Sefiadt wdl & gRiu & Sitenfires 31 3% 81 gor Tl
SMefiepRor & Te 3R 73 Iuie oft ff ot gt ok worgRY SR =ret Saw &Y wowd ot @St g5 I g Fr s A
FHRI ATYRYT HoTgR g1 AR Qe AT

UG T B UGHI 4 TR T T BT IR qargy|
W: IUATH A BT HIH-91 ¥ §2

1. YD

2. U

3. STl

4. GBI


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

Correct Answer :-

20) VIR T TH AYFHF U ITURT 81 I HT o+ fife A g =it fb v w=fi-i snfaser 21 file & SR Iu=umy
% 93 Y I Ugd UTaT | IU=ArEl B foReA #t e ena wgd! adl # g5 A, ot srotevdl Ol # 9k well el | SAS &
IRURY® ST 7 & sraTar e wer ot & @b ot TRl & A UTe® S| UISd! Bt WS T & A1 T AGH Bl
TG T T | 3R TS| B AU 3R Feie a7f P TR&0T A rrerdy et 3R 3 3ifires T i foraq | 3@
AGF U A At & TR Tard HIA $ T @R | Wad A1 YE I A ST g g & 3R T A B ugw @
A A1 1740 B fHTA IR Ie ATQ QRABTEA! Bt RITIAT & IUART @Rl 3t uga F o1 1| fife Tanvareh & &8 guri &
1Y ATY ST & T TD| & IUATH 31 fant 9gM 3R GTH FH T3 A A fell | ISR & Y Bid & 7 yo=a!
B Y g & 3 T fp IUURT Y e F fRATe | frar iR 3 A 959 GATET HHRT o GHaT 2

Sy=arat ® fRifya g oiftre arafae it <t ok gafne fayreigar &1 <iar d ot <t Su=amer ved awa urew Smarh
WV I & UL Bt gIHaT & TaT ST 4TI SRR A AR &1 Thid § U B TSI &F | ST = ATl Y 39 a1 Bt
3rerrd +ft &t o 3 Irdwifae ufvdsr A ug O iR weT wR Taf &Y 9 | TR SR U= & TiE & Sita § 379 Mg
P ATHTTT BT Ad A1 1836 H AT fEH B fwfae tud #) v ulier & yrRmaR® & vu & yei1fa fear man ufen
TR B1elt off SR ol & WRR gielt off | YRTaTR® & U # o [ AN & T 947 g o1 RO AT uig it wRa 41 9
PEMT P ATA Wi P SaoTR A T F 3T TS & 3T PT SaoIR B A | g & SR & Ay & fAudia, Su=aral #
TSI T ATYTST B BT e gielt o afp Aremor aen &Y o gt Y | Sehiadt wdl & gRiu & Sirenfires 31 3% 81 gt Tl
SefieRor & Te SR 713 Iuhe oft A ot godt ofk TorgRY SR Redt Sitaw &) wawd oft @Sl g3 off 1 g F s A
TR ATYRUT HoTgR g1 AR QT AT

IU TR B UgHR Y IR T Y= BT Sk Jarsu|
U=: SUAT A ART B $1 U BT SATATG 41?2
1. SRR H

2. THId |

3.ghH T

4. IYAH

Correct Answer :-
. TPlad

21) I3 HT TH MY = U 8 | ST &1 54 fiie I g ot % vop uxfi-t snfaser 21 file & R Iu=mrd
T 93 g 9% Ugd TN | ST $1 gt o1 o3 Tgd! adt & g3 <N, S sroTewd! adt & s well Befl | s &
IRufYe feTa 7l & sraTar e weg ot & @hT o U=l & A8 UTe® S| UISd! Bt WS T & A1 T AGH! B
TG T T | SR D! B TSI 3R Pl a7f P TR&0T A ey et 37 A 3ifires v i forq ol | 3
AEP U A JAehl H AR I HIA I T e A WA A1 Y P B SUATH T g1 A 3R e ai # uga |
A A1 1740 B fHTA IR Ie AT QRABTEAl Bt RITIT & IUART ARl 3t uga F o1 1| fife Tenvareh # &8 guri &
1Y WY ST & T TD| & IUATH Bt fast 9gM 3R GTH FH F3 A A fiell | ISR & Y Wid & 7 yo=a!
B TH B 31 7T {6 U= Y 6 F e A faran iR 3 | 959 GAIET HHET o Har |

Sy=arat ® fifya g oiftre arafae it <t ok gafne fayeigar &1 i A ot <t Su=amer ved awa urew smarh
A I & Ul Bt g1 A TaT1 ST 4TI SRR A AR B1 Thid § U B TSI & | ST A AT Bt 39 a1 Bt
3rerrd +ft &Y fp 3 Irdwifae uf¥dsr A ug O 3R weTl wR waf B 9P | ST SR U= & TiE & Sita= F 379 Mg
P ATHATT B Ad A1 1836 T IR F3F7 o) Uwrfaw Tued #) ve ulier & urTaifies & $u A uetiRra far man| ufen
TR BYelt off 3R ol & WRR Bielt off | YRTaTR® & U # o A AN & T 947 Igar o1 R AT uig it wra 41
PEMT P AT Wi P SaoTR A I F AT TS & 3T PT SaoIR B A | g P SR &b Alged & f[qudia, Su=arl &
TSI T AT B BT AT giedt o afp Aremor aen &Y o gt ff | Sefiadt wdl & gRiu & Sirenfires 31 3% 81 gor Tl
SMefieror & Ue ok 13 Iuie oft A ot gt ofk TorgRY 3R =gt iaw &) wawe oft @St g5 ff I g S s A
FHIT AIYROT HeIgR &1 AR QT ATl

ST Y P UGHR A1 TB T UL $T Saik T3¢
U: SUAT AP P 3T 9¢1 F I8 fh= 3eirdl fredi?
1. P TH S AN FJI /A A


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

2. HId Sl ai B TRETT
3. ST AP el
4, PO a7 P TRV 3R T B Aclt H 99 5 I &

Correct Answer :-

- i< 7 ob TREMUT SR T B eft H o8 T§ A I

22) WIS BT TH YFHF T ITURT 81 I &1 o+ fife A g ot fb v u=fi-i snfaser 21 file & SR Iu=umy
% 93 Y I Ugd UTaT | IU=ara & foReq #t e ena wgd! Ol # g5 A, ot rotevdl Ol # 9e? well el | SAS &
IRUfY® ST a7 & sraTar e wer ot & ahT ot STl & A8 UIe® S| US| Bt WS T & A1y T A@H B
AT T | ST AEd! B AU SR Feltet ot & wiReror A 3rond) fireft 3R 3 siftre W g foram @t ow
AWP U AG QAefl F AR IS HIA I T e A WA A1 Y P B SUATH T g1 A 3R e @i B uga |
B A1 1740 B fHTA IR Ie 10 QRABTEAl Bt RITIAT & IUART @Rl 3t uga F o1 1| fife Tamvareh # &8 guri &
Y Y ATHAT F T2 a1 A ITU Ft A9t Ig1 3R g0 70 H | Hag frelt | Igrevur & e Wik & $© ydT=re!
B g & 31 T fh IUURT Y e F fRAre | fErar iR 3 A 959 GATET HHRT o GHar 2|

Sy=arat ® fRifya g oiftre arafae it <t ok gafne fayeigar &1 ar d ot <ft | Su=amer ved awa urew Smarh
A I & UL Bt gIaT & TaT ST 4TI SUART A AR &1 Thid § U B TSI & | ST = ATl Y 39 a1 Bt
3rerrd +ft &t fp 3 Irdifae uf¥asr A ug O iR weT uR waf &Y 9P | TR SR SU=aT & il & Sita= § 379 Mg
P ATHATT B Ad A1 1836 T IR F3H7 o) Uwrfaw Tuwd 7 ve ulier & yrTaifies & $u A ueiiRra fear mar| uiene
TR Belt off SR ol & WRR gielt off | uRTaTR® & U # o [ AN & T 947 g 31 RO AT uig it w41 9
PEMI P ATA Wi P SaoTR A T F 3T HTE & 3T BT SaoIR B A U P SR &b Ay & fAudia, Su=aral #
TSI T AT B BT T gieft o afp Aremor a7 o gt Y | Sehadt wdl & gRiu & Sirenfires 31 3% 81 gor Tl
SefieRor & T SR 713 Iuie oft f ot gt oik HorgRY o 2et Sitaw &) wawd oft @St g3 off | g F s A
FHRIT ATYRUT HOTgR g1 AR QT AT

IU TR Y UgHR Y IR T Y= BT Sk qarsu|
UH: IUATH &1 o ford T+ srfass & gam?
1. e

2. HaH

3. @Rl

4. 3T

Correct Answer :-

23) HIfd $T TH SATYFh =T IUATH 7 | ST &1 574 fiie I gan <t % vop wxfih snfaspr 21 file & R Iu=mma
% 9 UYg 9% Ugd UM IUATH! & fore) o1 waimd aagdl adt § g5 &, oY sromevdl udl # e welt Bt | §ds &
TRURY® e 7l & sraTar A wer ot & @hT ff STl & A UIe® S| UISd! Bt WS T & A1y T AGH| B
TS Tg1 T | 3HY AWS| B THSTT 3R Fefd ol & TEUT J STeird} el 3R T 3iftres wad gl foreq &t | 3w
AGH U A Aeht & AR Teard HIA $ T @R | Wad A1 YE P A SUU g g & 3R T A B uga @

A A1 1740 B fHTA IR I AT QRABTEA! Bt RITIAT & IUART ARl 3t uga F o1 M| fifew Tanvareh # &8 guri &
mumum%ﬁﬂaﬁﬁaﬂaﬁﬁmaﬂﬁﬁwﬁaﬁvmmm%ﬁmﬁ?ﬁlWﬁ?mm%wm
B TH B 3171 {6 IU=T B 6 F e A faran R 3 | 959 GAIET HHET o Har |

Sy=arat ® fRifya g oiftres arafae it <t ok gafne fayeigar &1 i A ot <t Su=arr ved awa urew smarh
A U & UL Bt g1 & TaT ST 4TI SRR A AR B1 Uhid § U B TSI & | ST = ATl Y 39 a1 Bt
3rerrd +ft &t fp 3 Irdwifae ufvdsr A ug O 3R weT WR wai &% 9P | TR SR U= & aiEl & Sita= § 379 Mg
P ATHATT BT Ad A1 1836 H IR F3F o) Uwpfas Tued &) ver ulier & urTaifies & w0 A ueiiRra far mar| uiene
TR Bt off oz ol | WRR Eielt off | YRTaTR® & U # o | AN & T 947 Igan o1 RO AT uig it wRa 41 9
PEMT P ATA Wi P SaoTR A T F 3T TS & 3T PT SaoIR B A | g P SR & Ay & fAudia, Su=aral &
TSI T AT B BT AT gielt o afp Aremor ae &Y o gt Y | Sehiadt wdl & gRiu & Sienfires 31 3% 81 gor Tl
IeRieor & T 3R 78 IuiE oift ff agl gudt ofk woigRl SR 25t Sfta= &t wuwt o @ 58 ff | g St gis A
AT AIYROT HeIgR &1 AR QT ATl


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

IUYT TR B UgHR A1 Y 7T YA BT IR ga15¢|

W=: ST e 3t Y aima fw wdt # g3 ot ofk frw vt & weft-well?
1. S{RE! H Y, IJAwdl # Hell-Hait

2. TGl Y, HSREdl | Well-Gedl

3. 3TH A PIS e8!

4, IAIA H YFE Sgdl T weit- et

Correct Answer :-

. TAgdl Y, 3SRedl | Bell-Gel!

24) IR BT TH NYFHF FT TN g1 IUA FT o+ fife F g ot f v w=ii+i snfaswr 31 file & oo su=m
T% 93 TYE 9% Ugd U IU-ATH ) fore a1 geand aagdl Ot § g3 <&, S sromerdl udt & 9w welt welt | S F
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TG Fg it | SHY AWD! B TUSTT 3R Fefia Tt & T&0r I Srerrd} firedt ik 3 siftres wad g foram &t erw
AGP YT A Ll A AR Teard B B T 9 I Wad A1 YT P A SUUY g1 g A 3R T A B uga @
WA A1 1740 B fATA IR IeA AT QRABTEA] Bt RITIAT & IURT @il $t uga F o 1 | fife Tevareh & 3 guri &
T 1Y ATHET & 12 adtd! A Iu=ar Y fast gg™ iR g &1 $ H Heg firel | Ieeru & i i & $© yemia!
B T g | 31 T fh IUURT Y e & fFare | fman iR 3 A 959 GATET FHRT o GHaT 2

ST # fafaa g siftre arafas gt &t ok gufen faywaa &1 e & ard <t Su=amd ued 99y ure s ST
A U & Ul D1 giar & T 1T AT USRI A AR Bl THid B UgH B TG &t IU=ATH A AR DI 59 91 B
3rerrdl +ft &Y 6 @ Irdwifare ufvdsr A ug O iR Pl UR Tai &Y 9P | TR SR U= & =iE] & Siia— 9§ 3199 Mg
P ATHATT B Ad Y1 1836 H AT 3P o1 Uplaw Tusd #) v ulier & yRIaifie® & $u A uepiia fear mar| uen
T gt A ok ol @ wRgR gelt off| uRTarfee & = u A emA [ A W WU 94T Igar AT o) @it wig W wRa A1
PEM P AT Wie & aoTR A M V 3T AT & 3T FT SaoIR B3 A Ugd & SR & Aifecy & faudia, Su=aral #
ST T ATHTST B Tt 781 gelt N afep wremor an &) ard @it off | Sftadt ad & gRiu & shenfre g 3% 8 gt Al
SefieRor & T 3R 73 IuhE oft A ot gt 3R AorgRY 3R R1est shaw &) waw oft @St g5 ff 1 g Fr s A
FHRI ATYRYT ToTgR g1 AR Qe AT

ITYa TR Y Ugh -9 D T U $T IR Tars|
w=A: Iu=aral # fafya gt St gt ot

1. Bl #:4

2. Tidl W_

3. 3(fYh IRAfdD

4. BIYD

Correct Answer :-

. 3P aRdfa®

25) IR &1 THh NYHF FU TR 81 I &1 o+ fife A g o) fr v w=fi+i snfaser 31 file & oo su=m
TP 9 Hg aP Ugd UTdT | IUATH] $I e Y Yward FAgdl wal § g3 N, o SraTgwdl udl # e} welt il SAS &
IRUN® SifieTd ot & sramar i e ot & @l off ITIR & A UTow 99| UTSw! Bt W/ dgH & A1 § AWd! Bt
et g wftl 3 dEel @1 SfHerTa SR el ot & Heaor @ srmerrdl freht ofiv @ 3ife wada gt R @t o
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§'\rsﬁv)|1740ﬁﬁwr&waaﬁmﬁmaﬁaﬁ@mﬁmm?ﬁ7ﬁaﬁmﬁanﬁlfﬁﬁﬂéﬂq@vﬁﬁa@gm‘r%
T 1Y ATHET & 12 adtdl A Iu=ar B fast gg iR g &40 $ § Heg firelt | Ieerur & fig i & $0 yemia!
B T g | 31 T fh IUURT Y e & Rare | fman R 3 A 959 GATET HHRT o GHdT 2

ST # fafaa g siftre arafas gt Gt ok gufen fayeTaa &1 e & ardt <t Su=amd ugd 99y ure s ST
| I & U] Bt gIa1 & TaT ST 4TI SR A GRN &1 Thid § U &I TSI &F | SU=ATH A ATl Y 39 91 Dl
3rerrdl +ft &Y o @ Irdwifare ufvdsr § ug O 3R Pl UR ==l B 9P | TN SR U= & =iE] & Siia— 9§ 3179 Mg
P ATHATT B Ad Y1 1836 H AT TP B1 Uplae Ty #) ve ulier & yRaife® & $u A uepiid far man| uen
T gt A o7 ol @ WRgR gelt off| uRTarfee & = u A 3 [ AN A WU 94T Igar o ford @it wig W wRa A1
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HE & 3TA WIe D AR H MR H A T B 3T DT SdolR Hed 4| Ugd & gk & Illed & faudia, su=arat &
ST 91 AT 31 HgT-t 181 gielt A afees aremor arl o1 ard gt <ff | ShrdY wd) & gRiu & e g 3= 8y g Al
SefieRor & U SR 13 Iuie orft f ot godt ofk ATl o 2et Sitawt &) wawd oft @St g3 off | g FY gis A
THRIT ATYROT HeIgR &1 AR QT AT

ITe T B UGHR A1 TB T UL $T Sk T3¢

U: §70S & UNURS SHFHST 3 & aTar IU=ATH & 3R I U6 a2
1. T Aerat

2. 3ffdr 3= it

3. 9B aFl

4. A

Correct Answer :-

. fg geat

26) e HT TH AMYFAh =T IUATH B | IU=ATH &1 54 fiie A ganm ot % vep u=fi-h snfaspr 21 file & R Iu=amr
TS 98 TYE 9% Ugd U IU-ITH ) fire 91 geand aagdl adt A g3 &, 5 sroterdl udl # wie? welt welt | Sds F
IRURYS® ST o1 & 3raTar e weg ot & @bt Wt STl & 4 UIe® §9 | US| Bt WS T & 1Y T AGDH| B
AT g T | S AWD! B U 3R Feftst a7t & T&or & STy firedt 3R 3 Sif¥res waa= g foraa @l 3@
AEF AT A Al H AR TaTd B B T e | Wi A1 P o A IUUTH 7L 7 A 3R T @l Y uga @
W EA A1 1740 B AR W Te9 a1 RABTAa! St RITIHT A IU=ART G191 &1 uga A 3 | fifes amvarch & &8 guri &
1Y ATY AIH T & T Dl & Iu=AT ot fasst g 3R g1 F9 I3 A Aeg fielt | Ieervl & R wid & 7o yH=at
B A g & 31 AT fh IUURT Y e & fRare | fEvrar iR 3 A 959 GATET HURT o GHdaT 2

Su=arat ¥ fafya g siftre arafas g1t i ok gafem fayeiger 3t ar & ordt <t U= ved w9 ures smart
A U & Ul B gfrar & Tar SIrar ATl SURIRT A AN B Upid B UgA B STSTel &t SURIRT A @Rl Y 39 91 @
3reirdl +ft &Y fp & Irdwifare uf¥dsr & ug & iR HeTl UR =i B 9P | TN SR U= & TiE] & Sia— 9 379 3Mg
P ATHATT B Ad Y1 1836 H AT TP o1 fUplae Tud ») v ulier & yRMafe® & $U A UPIrd far mar| uen
T&i et A 3R ol @ WRyR gielt off| uRTarfe® & wu H 3 T AN A WU 94T Igar AT ol @t wig i wRa A1
PEMI P ATA Wi P AR A T V 3T TS & 3T PT SaoIR B A A & SR & Aifey & faudia, Su=aral #
TSI T AT Bt BT T8 gYelt 2 afe’p Aremmor @ ) ard gt ff | SehrdY el & gRiu & irenfres 37 3% 81 gar Tl
BT A T 3R 78 IS ot off et gt ok wergR) ok g it &t wowant ot @l g ff | g F gis o
FHRIT AIYROT HoTgR 6t AR QT ATl

I TR P UG A9 YD ¢ U $T IR Ta1s¢|

wH: fiifeT Samvaisht # &8 GURT 3R ATHTET & T4 aidl | frad Hee frdl?
1. fospt g™ iR T g |

2. TR AP T

3. AR SR TR &

4. BUTS 3R U8 |

Correct Answer :-

. fapt g iR gm geH

27) e BT T AMYFAh =T IUATH B | ST &1 o4 fife A g3 ot % vep u=fi-h snfaspr 21 file & R Su=amr
TS 98 TYE 9% Ugd UT| IU-ITH ) e 91 geand aagdl dt A g3 <&, S sroterdl udl # e welt welt | Sds F
IRURYS® ST o & 3raTar A waeg @it & @l Wt STl & 0 UTe® S| UTS Sl Bt S T & 1Y T AGdH B
AT g T | S AWD! B U IR Feftsr 7l F T&or A ST et 3R I Sif¥res v g foraq @l 3@
AEF U= AE il H AR TG H I T e o WA A1 Y P H SUUTH Tl g1 A 3R Tq i &1 uga &
WEA A1 1740 B AR W To9 a1 RABTAA! Pt RITIAT A IU=ART G &1 uga A 3 | fifes amvarch & &8 guri &
1Y ATY AIH T & T TPl & IU=AT ot fasst ggm 3R g1 F9 I3 A Aeg fielt | Ieervl & R wid & 7o yHmrat
B Y U A 31 7T P U= Y He & BT | fHmran wR 33 A 9gd YAIBT FHMET o har g
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Sy | fafa givar siftres arafas giet &t ok surfere faywa=aar &t diwn | ardt 4t SU=uTH ugd T9y ure® St
A I & UL Bt gIa1 & TaT1 ST 4TI SUART A AR &1 Thid § U &I TSITe! & | ST = ATl Y 9 a1 Bt
3rerrd +ft &t fp 3 Irdwifae ufvdsr A ug O iR weT uR waf &Y 9P | TR SR U= & TR & Sita § 379 Mg
P SATHATT B Ad A1 1836 T IR F3FH o) Uwfaw Tud &) ve ulier & urraifes & $u A uemiiRia far man| ufene
T et A 3R ol @ wRyR gielt off| uRTare® & wu d 3 T AN H W 94T IgaT AT ol AT wig i HRa 413
PEMI P ATA Wi P SaoTR A I V 3T TS & 3T PT SaoIR B A1 U & SR &b Ay & fAudia, Su=aral #
TSI T AT B BT T gt < afp Aremor aen &Y o gt Y | Sehadt wdh & g1 & irenfires 37 3% 81 gor Tl
SefieRor & T SR 13 Iuie oft o ot gt ofk AorgRY o 2et Sitaw &) wawt oft @St g3 off | g F s A
TR ATYRYT FoTgR € AR ST AT

IUE TR B UgH A IR T Y= BT Sk Jargu|
U AN SR IUUT & IR & it F 3U= 3T B 771 HR Ad A?
1. S 7ol

2. 9gd X
3. SCT-YUTT

4, HTHATT

Correct Answer :-

28) WIS &1 TP NYF T ITURT 81 I &1 o+ fife A g o) fs v w=fi-i snfaser 31 file & sRor su=my
TS 98 TYE 9% Ugd U IU-ITH ) fore 91 geand Tagdl adt A g3 &, 5 sroterdl udl # e welt welt | S F
IRURYSE HFSTa a1 & SraTar e weg ot & @bt i TRl & AU UIe® S| UISd| Bt WS T & A1 T AGdH Bl
AT g T | S AWD! B U 3R Fefts a7l & TR&0r | STt firedt 3R I Sif¥res wad = g foraq @l 3@
AP AT A Al A AR daTd B B T e | Wi A1 P o A IUUTH 7L g A 3R T @ Y uga @
WEA A1 1740 B AR W Te9 a1 RABTAal St RITIAT A IU=ART a1 &1 uga A 3 1 fiifes avarch & &8 guri &
1Y 1Y ATHIET & 78 adtd] A I Y fAept 9eM iR g &9 $ § Heg frel | 33 & i i & $0 yebmia!
B Y U A 31 7T S U= Y He & fRHre | fHvman wR S A 9gd YAIBT HHMET o har g

Iu=arat ¥ Rifya g siftre arafas 81t i ok gafen fayeigar 3t ar & ordt <t Iu=rma vea w9 urew smart
| I & UL Bt gFa1 & TaT ST 311 SUART A AR &1 Thid H g &I TSTe! & | ST = &Il Y 9 a1 Bt
3rerrdt +ft &t f 3 Irdwifae ufvasr o ug O 3R weT uR Tt &% 9P | TR SRR SU=IT & Al & Sita= | 3179 Mg
P ATHATT B Ad Y1 1836 | AT (FP1 o1 TP la® Iy B v U1 & YRaIeE & $U A US4 far mar| uend
T&I et A 3R ol @ WRyR gielt off| uRTarfe® & ®u A 3 | AR H W 99T 384T AT ol @Rt wig i HRa A1
PEMI P ATA Wi P SaoTR A ST V 3T HATE & 3T PT SaoIR B A1 T8 & SR & Aifey & fAudia, Su=ara) #
TSI 91 AT B HET- 81 giet N afees aremmor ain o1 ard giet <ff | STrdt wd) & gRiu # e g 3= 8y g ATl
IR & T R 7% SRS orit ff 9l gudt SR AeigRl SR X it o1 wawnt Wt @t g5 A | g 1 gis &
FHRIT HIYROT HoTgR 6t AR QT AT

I IR P UgHR 19 D ¢ U $T IR Ta1s|

W: IUATH Ugd A9 YIS ST & g1 geil SIrdl 412
1. 30 R

2. 30 THER

3. AreT aH

4. O DI gfar d

Correct Answer :-

. UGB g H
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AP AT G Aelt H§ A-TdTe IGATd B DI IR g A Wad ¥ | YT YT A SUUN A1 gid ¥ 3R T R & uga o
WA A1 1740 B fHTA IR Ie AT QRABTEA! Bt RITIAT & IUART @il 3t uga F o1 1A | fife Tanvareh & 3 guri &
TTY Y AIHFAT F T2 a1 A ITU Ft At ge1 3R g0 70 H1 | Hae frelt | Igrevur & e wi & $© ydTre!
B T g | 31 T b IU=IRT Y e & Rare | fman iR 3 & 959 GATHT FHRT o GHdT g

Sy=arat ® fRifya g oiftre arafae gt <t ok gafne fayegar &1 iar & ot <t Su=amer ued wwa urew smarh
A U & Ul Bt gFar & TaT SIar 4TI SUSART A AR B1 Uhid B U B TSI & | ST A ATl Y 39 a1 Bt
3rerrdt off €t for @ wrdwAe ufkawr # ug I 3R wert W Tai B 9@ | N1 SR SURITH & IiEl & oftas 9§ e 3y
P ATHATT BT Ad A1 1836 7 AT F3F7 o) Upfaw Tued #) ve ulier & uRmaifies & $u A ueiiRia fear mar| uiene
TE gt off 3R o A wR QR Belt Y | eRTafR e & Fu A S [ A F WA 947 gar o o At geig W A A1 3
PEMT P ATA Wi P AR A I A 3T HATE & 3T PT SaoTR B A g P SR & Alged & f[qudia, Su=aral #
ITSIT 91 TS B HeTt 781 gt A afew aremor al &1 ard gt <ff | Sshrdt 9t & gRiu & i g 3= 8y g 4l
SMefieRor & T SR 13 Iuhe oft A ot gt ok TorgRY 3R =gt aw &Y wowd ot @St g3 ff I g Fr s A
FHRI ATYRUT HoTgR g1 AR Qe AT

UG T B UGHI 4 D T T BT IR qa1gQ|

U= UTo®| &1 ST g¢1 & 914 gl AP &1 o1 9¢ 52
1. A

2. 3T

3. TRRIF

4.9

Correct Answer :-

30) IR &1 U@ MYAIF FU TR 81 Iu=U &1 7+ fife A g =il fr v u=fii snfaser 21 file & srRor su=my
T® 93 Y I Ugd UTaT | IU=arH & foreq #t e ana wagd! Ol # g5 A, ot srotevdl Ol # 9e? well Eel | SAS &
IRUfY® ST a7 & sraTar A wer ot & @l o TRl & A UIe® S| UISd! Bt WS T & A1 T AGH B
TS 91 T | 3HY AWS! B THSTT 3R Fefid a¥f & TEUT | STeird} firedt 3R T eiftrer wad gl foreq &t | erw
AGF U A At & AR Tard HIA $ T @R | Waad A1 YT P A ST g g & 3R T A B ugw @
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Sy=urat # fafia g eiffre arafaw gt <0t oiv safem fayariaar &1t # ot <t Su= ved awa wrew st
¥ U & U Pt AT B TAT Sl AT IUATH A AN B Thid F U Bt Al < U= o dRN B 59 91 Bt
3rerdt Wt & fp 3 grdwifae ufvawr # ug I& R weTl W =i &% I | AT SRR IU-UTY & IR & Sita= F 3 3
P AT B Ad A1 1836 H TTeE f3F ) Uwpfaw T #) ve ulier ¥ urmaifes & wu & yeifa fear wan ufen
T gt A SR Rl @ wRR gl off | yRTafee & U & A A ANl HXY 9471 Tgar o7 o @ wig W Fa 41
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ITSTT T AT &1 ST 781 gt N 9y AremRor a1 ard gielt Y1 It wdt & gRiu & sienfire gon g &) g7 uTl
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IU TR B UgHR Y IR T Y= BT Sk qarsu|

TR: IR= A SUART b RO I T Al St uga A gr A2
1. flie 316 7 8 & BRUI

2. TR 7 §H & BRI

3. TR BUTS & BRI

4. T8N B & BRI
Correct Answer :-

. AN BN & BRI
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Topic:- General English(L2GE)

1) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What is forcing Gudigar’s to undertake other jobs?
1. Insufficient resources

2. Insufficient helpers

3. Lack of skill

4, Lack of interest

Correct Answer :-

* Insufficient resources

2) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

In the passage /migrate means

1. They wandered from Goa to Karnataka

2. Relocating from Goa to Karnataka for work

3. Went on a short trip to Karnataka and came back

4. Went on a spiritual journey from Goa to Karnataka

Correct Answer :-

* Relocating from Goa to Karnataka for work

3) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
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abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

Who promoted sandalwood craft in Karnataka?
1. Government

2. Gudigar clan

3. Mysore Wadiyars

4. Gypsies of Goa

Correct Answer :-

e Gudigar clan

4) Read the passage carefully and answer the question given below:

Sandalwood craft is a centuries-old craft nurtured by the Gudigar clan in the state of Karnataka. Way back, this
clan of people migrated from Goa to the Malnad region of Karnataka, where sandalwood was available in
abundance. These artisans were highly skilled in meticulously carving figurines. Sculpting an aesthetic figure
from a log of wood demands mastery through years of practice and perseverance of a craftsperson.

They also partook in building temples and palaces during the rule of Mysore Wadiyars. Eventually, they also
became proficient in crafting mantapas, basingas (headgear) during the wedding season, clay Ganesha idols at
the time of festival and several other utilities and decorative commodities. The scarce availability of
sandalwood has affected the artisans who can no longer rely on this craft for livelihood. Gudigars are gradually
venturing into other activities for a living.

What did the Gudigars engage themselves in during the Wadiyar rule?
1. Selling their artefacts

2. Owning some of the temples and palaces

3. Becoming caretakers of the temples and palaces

4. Building palaces and temples

Correct Answer :-

» Building palaces and temples

5) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle
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The speaker compares the sky to a:
1. milk bottle

2. pale blue paper

3. sea shore

4, water fall

Correct Answer :-

 pale blue paper

6) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

The ‘sun’ in the poem is referred to as:
1. All of the above

2. A golden coin only

3. An orange life boat only

4. A yellow beach ball only

Correct Answer :-

o All of the above

7) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In the poem, the sky is .
1. clear

2. windy
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3. cloudy

4. stormy

Correct Answer :-
o clear
8) Read the poem carefully and answer the question given below:

The Sun is an orange dinghy
sailing across a calm sea

it is a gold coin

dropped down a drain in Heaven
the Sun is a yellow beach ball
kicked high into the summer sky
it is a red thumb-print

on a sheet of pale blue paper

the Sun is a milk bottle's gold top
floating in a puddle

In this line “The sun is a yellow beach ball” which literary device has been used by the speaker?
1. Simile

2. Personification

3. Assonance

4, Alliteration

Correct Answer :-
o Personification

9) Read the sentence carefully and choose the option that has an error in it:

Sitting under an umbrella, Bob was startled when a gust of wind suddenly carried it away.
1. No error

2. Sitting under an umbrella,

3. a gust of wind carried it away.

4. Bob was startled when

Correct Answer :-

e agust of wind carried it away.

10) Fill in the blank with the correct option in the given sentence:

One must not have any other diver-- while driving.
1. --sify

2. --sions
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3. --ted

4, --sification
Correct Answer :-
e --sions

11) Fill in the blank with the correct option in the given sentence:

People hold ______ views on the issue of arranged marriages.
1. opposites

2. opposition

3. opposing

4. opponent

Correct Answer :-

e opposing

12) Fill in the blank with the most appropriate preposition in the given sentence.
They jumped___ the water from their boat.

1. on

2.1in

3. beside

4, into

Correct Answer :-

13) Choose the appropriate tenses to fill in the blanks in the given sentence:

The patient afraid that he swine flu, but the doctor assured him that he from only mild
fever.

1. was, had, was suffering
2. did, have, will suffer
3. am, have, was suffered

4. will, have, are suffered

Correct Answer :-

* was, had, was suffering


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Choose the right tag:

Raju can swim well, ?
1.isn't he

2. can he

3. can't he

4, doesn't he

Correct Answer :-

e can't he

15) Choose the option that substitutes the given phrase appropriately.

A building where an audience sits
1. Auditorium
2. Acquarium
3. Sanatorium

4, Stadium

Correct Answer :-

¢ Auditorium

16) Change the given statement to indirect speech.
“Are you lost, my child?”, asked a soft voice behind me.
1. A soft voice from behind asked me if I was lost.

2. A soft voice said to me are you lost child.

3. A soft voice asked If I am lost.

4, A soft voice behind me asked if I was lost.

Correct Answer :-
o A soft voice behind me asked if I was lost.

17) Choose the appropriate prepositions for the given sentence:

I usually donate food the orphans festivals.

1. to, during
2. for, onto

3. with, at

4. of, by
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Correct Answer :-
e to, during

18) Choose the appropriate conjunction for the given sentence:

The weather was fine___ we decided to go out for a long walk.
1. and

2. as

3. but

4, because

Correct Answer :-

e and

19) Choose the appropriate antonym for the highlighted word in the given sentence.
The dour villagers glared silently at the tourists.

1. Morose

2. Attractive

3. Hapless

4, Cheery

Correct Answer :-

20) Choose the appropriate option that rewrites the given sentence in its passive voice.

He consulted a number of magazines, books, websites and other reference materials to prepare for his
examination.

1. A number of magazines, books, websites and other reference materials are consulted by him to prepare for his
examination.

2. A number of magazines, books, websites and other reference materials consulted him to prepare for his examination.

3. A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

4. A number of magazines, books, websites and other reference materials had consulted by him to prepare for his
examination.

Correct Answer :-

* A number of magazines, books, websites and other reference materials were consulted by him to prepare for his
examination.

21) Choose the appropriate synonym for the highlighted word in the given sentence.
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The group deliberated for an hour before reaching a decision.
1. Voted

2. Appealed

3. Agreed

4. Discussed

Correct Answer :-

o Discussed

22) Choose the suitable word to complete the given sentence.

When you do not agree with someone, you --agree.
1. anti--

2. dis--

3. pre--

4, contra--

Correct Answer :-
o dis--

23) Choose appropriate articles for the given sentence:

__ studentsreached __ top of mountain by noon.
1. The, the, the

2. The, a, no article required

3. No article required, the, a

4. No article required, a, the

Correct Answer :-
* The, the, the

24) Choose an appropriate modal for the given sentence:

We respect our constitution.
1. might
2. must

3. would


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

4, could

Correct Answer :-

e must

25) Choose the correct option to fill in the blank in the given sentence.
The two teams greeted before the toss took place.

1. one another

2. all

3. themselves

4, each other

Correct Answer :-

e cach other

26) Choose the most appropriate determiner in the given sentence.
of the schools would suit me.

1. Either

2. Education

3. Every

4, Each

Correct Answer :-

o Either

27) Choose the option that best explains the highlighted expression:
We are going round in circles. I wish you’d come up with a new idea.
1. discuss something without making any progress

2. talk in a roundabout manner

3. make great progress

4. move about in circles

Correct Answer :-

o discuss something without making any progress

28) Choose the option that best explains the highlighted expression:
The children’s behavior has gone beyond a joke this time.

1. rather boring

2. rather interesting
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3. rather humorous
4. rather annoying

Correct Answer :-

e rather annoying

29) Choose the option that best transforms the sentence into its Indirect form:

The teacher said to the boy, “shut the door.”
1. The teacher asked to the boy to shut the door.
2. The teacher asked the boy that to shut the door.
3. The teacher asked the boy to shut the door.

4. The teacher said the boy to shut the door.

Correct Answer :-

o The teacher asked the boy to shut the door.

30) Which of the following options best combines the given two sentences?

I was tired of walking. I wanted to take rest.

1. Wanting to rest, I was tired of walking.
2. Being tired of walking, | wanted to take rest.
3. I being tired of walking, I took rest.

4. As [ was tired, I was wanting to rest.

Correct Answer :-

« Being tired of walking, I wanted to take rest.

Topic:- Science (SCI)

1) The relative density of a substance is 13.6 and its volume is 20 cm3. What is its mass? /
ot uerd =1 ATde ¥ 13.6 © 3R SHBT T 20 AH3 81 SHBT GouHT fpar 82
1.272¢g / UH

2.2.72¢g / UH

3.27.2g / UH

4.0.06g / UH

Correct Answer :-

« 272g / UH
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2)
The current—voltage graph for two conductors ‘P’ and ‘Q" are shown below. Select the correct
statement from the following options. /

g garerss PR Q' F T g dees anw A g v ¥ feeetaa
farodl & Her YU FT IhT FII

Current Q

Voltage

1. For the same value of voltage, the current through the conductor Q is more than the current through the conductor P. /

ﬁ%wm%@,ﬁ@qﬁﬁgmm Q¥ IR ToRd! 8, YA P ¥ 7oA dTal faggq ¥ ifis
|

2. The resistance of the conductor P is equal to the resistance of the conductor Q. /

JATA® P BT UeRIY JaTad Q & UfeRiY & 0 5|

3. The resistance of the conductor P is greater than the resistance of the conductor Q. /
FATAH P BT UFRIY FATaD Q & UTeRTY F e 5

4. The resistance of the conductor P is less than the resistance of the conductor Q. /
FATa® P HT YR AT Q & Uiy I &4 7|

Correct Answer :-

« The resistance of the conductor P is less than the resistance of the conductor Q. /
FATA® P HT URIY JaTad Q & UfeRIy I &1 B

3) What are the food requirements of dairy animals? /
ST URSH} B W ATTRADATE T 82
1. Cattle need balanced rations containing all nutrients in proportionate amount. /
ARt &Y Sfer A it Uives deal ara Tgferd TR B TRl giat B |
2. Cattle require appropriate amount of food to sustain life needs. /
TR &1 St B STaRgHarsil & g1 B & forg HioH o) Suged AET &1 Il gidl gl
3. Cattle are fed with plenty of green grass as well as dried fodder. /

TR BT 3ifere gR U & Y g Gt =Ry ot Ry S ]

4. Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

HARMGT & HISr B HieT IR, Sl A0S ¥ F IRGR 81 a4T U-3MER 1 BIgaR $H gidl ¢ i 394
I TR & U U9 39 UV dd 81d g |
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Correct Answer :-

» Cattle feed includes roughage, which is largely fibre and concentrates which are low in fibre but contains high
level of proteins and other nutrients. /

AR & Hie § HieT IR, S U U J IRER 8 94T UR-3MER 0 WIgeR $HH gidl § A 3ad
I TR & WICH Td 30 UIYe da g1d ol

4) The cracks inside a metal block can be detected with the help of:/

UTg TP P ATARD GIRT B TeTaaT | fHTHT uaT FIraT S Yo 3:
1. Visible light / €9 UHIRI

2. Infrasonic sound / 3{[d¥g g

3. Audible sound / 4T gt

4. Ultra sound / TRYT @A

Correct Answer :-

» Ultra sound / U gt

5) At the top of the mountain the atmospheric pressure is: /

vers & 2 R, arararvity gare fA SUR giar 3:

1. Less than the pressure at the sea level / JHg d¢f UX G919 4 HH
2. Equal to the pressure at the sea level / WWWW%W
3. Equal to zero / Q]FCT%W

4. Greater than the pressure at the sea level / JH% d¢l U Gdlld BEEIRED

Correct Answer :-

« Less than the pressure at the sea level / JH% dd X CEICRER

6) Haemophilia and colour blindness are diseases. /
SHpfer v qurferar U

1. acquired / Iutfela

2. communicable / TshTHD

3. genetic disorders / &naa'mﬁm?

4. non communicable / IHhTHD

Correct Answer :-

+ genetic disorders / &Wﬁw


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Yt uTe srcafires Rtae wvrw o fRufar & ot Shifaa vear 8, waife:
1. Thick layer of fat under skin / 2T & =iTd a1 &1 HIC! TRd & BRI

2. Abundant fish / TR H&al

3. Oversize / fa=ITeTHTA

4. Ice covered land / It ¥ G STHM

Correct Answer :-

« Thick layer of fat under skin / 9T & A a1 B! AT IRd & BRI

8) Convert: 15m/s into km/h /
15m/saﬁ km/h ﬁmﬁaaﬁﬁq |
1. 54km/h / 54 foheiHieR/ e

2. 27km/h / 27 fameR/Aer

3. 18km/h / 18 fhameR/Aer

4. 36km/h / 36 foraHieR/dieT

Correct Answer :-

« 54km/h /54 fhaie/der

9) Which of the following is not advisable for controlling the noise pollution? /

Frufefea & & war wfy vguor 3t fFrifia o= & fore faa =g 82

1. The TV and the music systems should be run at low volume. /
Adt iR Tifid 91 (e s o) &7 3 § TamT g

2. The least number of trees should be planted around the buildings./
YA & IRI 3R HH I HH US TY S T

3. Automobile horns should be minimized at the residential area./
STARITT &3 § SHICHISTSd 81+ Pl Y Y $HH fobar ST AMfgy |

4. Industrial units should be set up away from the residential area./
SN IHTIAT B AR &5 J X R faan 1 anfg |

Correct Answer :-

o The least number of trees should be planted around the buildings./

YA & IRI 3R HH I HH US TY S AT

10) For a normal eye, the far point and near point are and respectively./

TS A= A7 & fore, geey =@ g ik fAave =f¥ fig wom: 3R ]
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1. infinite, 25 cm / 3|7'i?f, 25 THT
2. infinite , zero / 3{Hd, I

3. 45¢m 25 cm / 45 G, 25 It
4.25cm, 10 cm/ZSQIﬂ, 10 THY

Correct Answer :-

« infinite, 25 cm / 3Hd, 25 It

11) Alice gets 100 out of 100 in her Math test to get the first rank always. This is an

example of motivation /Emaﬁuwmmaﬂ%a?ﬁw, LG
Ti&T H FHRT 100 F A 100 3% fed §1 38 TRUTT T TP I&16<0I 3
1. Extrinsic / dl&J

2. power-based / fad-snerid

3. fear-based / HI-STYTRT

4. Competitive / gfaant

Correct Answer :-

« Extrinsic / dlg&l

12) A wire when connected to 220V main supply has power dissipation ‘P;’. Now the wire is cut into two

equal pieces and combined in parallel and then it is connected to the same supply. The power dissipation in
this case is ‘P,’. Find Py : P,./

TS IR B 9F 220V G- SATYfe & SNST 1T 3 99 3TH fAggq 3rvsag <P, FA1 8| 314 dR B Q)
ISR ghsl A BIET ST 8 3R THHIGR T A SieH? 33 THT ATYfd A SiveT wirar 81 33 fRufa &
faggq sruara «p,’ QAT R P, : P, [T B

1.2:1
2.3:1
3.1:2

4.1:4

Correct Answer :-

13) To save maximum energy it is advisable to use: /

ARFHaH St ga™ & T fFasT IuahT S+ Ifea saran s 3:
1. CFL lamps in our house / sﬂﬁmﬁ%ﬂwéu
2. Filament lamps in our house / mmﬁm%ﬂ (dd attr)
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3. Fluorescent lamps in our house / TAR IR yfadia o
4, LED lamps in our house / Eﬂzlﬁ WH Qﬂg@p[ )

Correct Answer :-

o LED lamps in our house / EII'I?{ WH Qﬂg@ﬁ ﬁtr

14) A solution contains 15 mL of alcohol and 85 mL of water. Calculate the volume by volume percentage
of solution. /

T g #, 85 mL U 3R 15 mL 3ehigd gia1 8 | faeraa & A ufawra ¥ /1 &1 TuET B |
1. 22.4%

2. 15%

3. 17.6%

4. 85%

Correct Answer :-

o« 15%

15) Identify the correct electronic configuration of calcium /
SR F T8 gawNe =g &) v &1
1.2,8,8,2

2.2,8,5

3.2,8,8,1

4.2,8,7

Correct Answer :-

16) The number of oxygen atoms present in 1 mole of Na,CO;3. 10H,0 /
N2,CO3. 10H,0 & T AT § STRIS TRUTI[SH &1 T=1 1IN 3:
1. 13.02 X 10% oxygen atoms/ 13.02 X 1023 &ﬁa%ﬂwrqu

2 6.022 X 102 oxygen atoms/&ozz X 1023 &mmm

5 783X 10**oxygen atoms | - 3y 124 SifeRitS TR

4 4.63 x 10%2 oxygen atmns/4.63 X 1022 Gf\llfﬂﬂ\_ﬂ:[m

Correct Answer :-

24 -
. 783X 10%oxygenatoms ;5 g3y 1024 3ifqefierT RAT
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17) The process used to separate bacteria from water is /

Tt A ST Y 3T B F ufpar g
1. Decantation / FREROT
2. Crystallisation / foh el

3. Evaporation / dT&

4. Filtration / fAdg

Correct Answer :-

« Filtration / g

18) The pressure acting on a given area is 125N/m2.If the force applied is 2500N then the area on which
the force applied is : /

ﬁi%’fﬁqwaawmmuswmz%l gfe ST T S 2500N ® Y & O W) g9 ST mar g
de &:

1. 200m? / 200412
2.2m? /2 2
3.20m? / 20 T2
4.20cm? / 20 JH2

Correct Answer :-

« 20m?2 /20 ®2

19) About 5¢g of a yellow coloured non-metallic solid (X) is taken and heated. It produces an irritating
smelling gas (Y). The gas (Y) is collected in a Gas jar and is shaken well with a little water when colourless
Sulphurous acid (Z) is formed. What is the solid (X) and the gas (Y)? /

it T & ST ST (X) BT TN 5 9T o sirar 8 $nR 1 favan wirar 81 a8 g9 vie arehl v
(Y) I HAT 8 | 9 (V) B T T R # v fhar Srar 8 3R 4YsT ur- ST feaman Siar g a9
T TRRY TRYS () F1 fAafor iar 81 319 (x) Td 19 (v) | 82

1.X = S, &Y =503
2.X = P4&Y = Py0s
3.X = Sg&Y =50,
4.X = S4&Y = SO;3

Correct Answer :-
e X = Sg&Y =S50,

20) Out of the following given materials, which one will you prefer to make the handle of an electric
kettle? /
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fraferad 3t € IRl # 9, oy fHud te saface Sl BT 3sd 991 THg B2
1. Tungsten / IR

2. Bakelite / SH AR

3. Copper / HIR

4. Aluminium / TgfAATy

Correct Answer :-

« Bakelite / Shdgc

21) A weak acid among the following is: /
e & A v godat snaT &:

1. Acetic acid / Qﬁl’% 3T

2. Hydrochloric acid / @ﬂ% ST

3. Nitric acid / 11 E$ ST

4. Sulphuric acid / GeRIR® 3T

Correct Answer :-

o Aceticacid/ U fed 3Fd

22) Type of the soil is decided by the /

HeT T ThR A g1 7 e siran @

1. Amount of humus in it / 3Igd Wlq CARIE

2. Average size of the soil particles / Hal & HUN BT 3T MHR
3. Porosity of the soil. / Hal T IRIThIRT

4. Amount of microorganisms in it / ITH ﬁ&ﬂ\’:ﬁ?ﬁ CAREIE

Correct Answer :-

« Average size of the soil particles / Hal & HUN BT ST ATHR

23) Element ‘P’ has atomic number 19. The incorrect statement among the following is: /
< P’ B} URHTY] =T 19 B | Fafafea d @ Taq s 8:

1. The valency of the element is 1/ T I TASThT | %I

2. Element ‘P’ is a non-metal. / dcd ‘P’ Udh \-ﬁ‘f'ﬂﬁ%l

3. Element ‘P’ belongs to group I/ dcd 'P' HHg I & 3faifd 31T(‘|T%I

4. Element ‘P’ belongs to 4th period / dcd ‘P’ MY 3T & Sfavta &ﬂﬂT%I

Correct Answer :-
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« Element ‘P’ is a non-metal. / Tcd ‘P’ Teh U B |

24) What is the percentage of Carbon and Lead in Lead pencil, which we use for writing, drawing etc.? /

?mmmm,mmﬁ%mmﬂm%mwmmﬁmm

1. 50% Carbon & 50% Lead. / 50% W Q_d 50% Rlief
2. 100% Carbon & 0% Lead. / 100% W QE 0% Rief
3. 0% Carbon & 100% Lead / 0% EFIE&T Qa 100% iR
4.75% Carbon & 25% Lead. / 75% T Td 25% |

Correct Answer :-

e 100% Carbon & 0% Lead. / 100% ma‘:ﬂqa 0% XTI

25) Which one of the following factors affects the quality of honey produced? /

frufafed # & foa $R® A 2ee i YuEs gyIfad gidl 82

1. Number of worker bees which collect the nectar / G BT HHIG FHG] A ard Holgl ﬂgﬂ'm DI T
2. None of the above / B'CR%R‘[ e ﬁ's‘ qﬁ

3. Queen bee and Drones / X1 HW IR I{‘{Fla@

4. Flowers available to the bees for nectar / HW & HPYG %@ U Y U

Correct Answer :-

+ Flowers available to the bees for nectar / HW & HPG %ﬂ SUd Y IR
26) Which physical quantity has the unit N/kg? /

o wifoe T 1 318 N/kg 82

1. Velocity / a7

2. Acceleration / @RU

3. Speed / dTel

4. Force / dc1

Correct Answer :-
« Acceleration / @RI
27) Two of the components of ecosystem mentioned below are abiotic. Identify them.

Inorganic nutrients, herbivores, decomposers, climatic factors, forests /

+ha Sfeafaa mifRufast @3 & <) uew sefidia 81 3% ugaifau
3id U9 ded, AMPIERT, ATICHRI, Fedrgd! RS, 9
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1. Inorganic nutrients and forests / 3{9ld I dcd 3R o

2. Decomposers and climatic factors / 3TGeHRY 3R STAdrgd! HREB

3. Decomposers and inorganic nutrients / 3TICHRT 3R 3/ TING I

4. Climatic factors and inorganic nutrients / SAdRd PR 3R 3old UINh dd

Correct Answer :-

« Climatic factors and inorganic nutrients / SITarIdt R 3R 3oid UINS dcd

28) One among the substances given below can easily exist in all the 3 states of matter by varying its
temperature. Identify that substance. /

= fo e uerdf & A ve verd & aruwr= # afe b-gd far g, @t 4 srameit # wRear @
T 8 9o d1 21 39 Uerd & ugarH &Y |

1. Table salt. / JTHT THD
2. Diamond. / @T[

3. Helium gas. /mﬁ'ﬂ

4. Water. / SId1

Correct Answer :-

o Water. / SIc1

29) is used for making the pencil lead. /

uf_ya o 91 & for ST UGN fHaT SATdT 21
1. Graphite/a'qﬂ—sf_f;r

2. Diamond / iﬂﬂ
3. Silica / ffcTenT
4. Calcium / %@II’CII[

Correct Answer :-

o Graphite / atmsa

30) To move an uncharged body from its state of rest , we have to apply : /

et srTaRRra 93 @t SuS favm 1 fRufa A Fepreq & forg, g9 v ghm:
1. A balanced external force / U Sdferd a1l §a

2. An unbalanced electrostatic force / U 31?’@1%1?[ RR a'c{ﬂﬁ EN

3. An unbalanced external force / Tdh Wﬁﬁfﬂ EIBEG]
4. A balanced frictional force / T Tqferd a¥ur @

Correct Answer :-
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« An unbalanced external force / Tdh &mﬁﬁﬁ EIBEG

31) During the extraction of Iron from Haematite, which substance acts as Flux in the Blast furnace, which removes
the acidic Silica contaminating the Ore particles? /

qATETSE | 9 & Fhdur & SR, S A1 uard sae B & 3R HuNl ) gira ®e arat sty RifereT ot
g 1A FIRT & U B BT Har 82

1. P,05
2.C.
3. CaCl,

4, CaO

Correct Answer :-

e CaO

32) National Science Day is celebrated on in India. / HRd s | ?Tg’fq ICEIG
faaw S AT ST B |

1. February 28 /28 HRa’!
2.May1/1¥8
3.June 5/ 59T

4.March 7 /7 91

Correct Answer :-

. February 28 /28 HRaR!

33) Evaluation is a ./ i U 2l

1. process unrelated to instructional objectives / G@QIW 3%’5&3[ & forq sredifera ufshan
2. continuous process / ddd ufeean

3. Non-quantitative process / R-AFTES Ufpar

4. Non-qualitative process / ﬁ?-w ufoear

Correct Answer :-

« continuous process / ddd Tfchar

34) The educational programs of NCERT are telecasted on: / Wm & Aeifore
STAHHI DI W TR B Srar |

1. Gyan Darshan channel / 3T GQi:I SEIY

2. Doordarshan National channel / gid-‘%lr"l ERERICRTY
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3. Doordarshan Bharti / §?3Qi:| YRl
4. eGyankosh / SC-W'E[

Correct Answer :-

« Gyan Darshan channel / T aQi:I SEIY

35) Which of the following statements is not true for a constructivist teacher? / ﬁ?ﬁ%r@?r

A q BIF IT HY, TP IgAT1a1d) Rrere & forw I 781 82
1. His/her students work mainly in groups / 3% B H =4 | ﬂ’lﬁ-ﬁ T ®h Hd %I
2. His/her role is rooted in negotiation. / L '{&IW Adyrg o Iﬁl%a %I

3. He/she assesses the students through testing by checking for correct responses. / dg6 ﬂﬁ

gfaforarsii & forg Sifa s URTertT & [T ¥ ST B Hidha- Hd ¢ |
4. He/she values the interest of students. / dg CIEIKD %ﬂ G Hed a?f %I

Correct Answer :-

. He/she assesses the students through testing by checking for correct responses. / dg ﬂ%bf

yfaferarael & o Sirg B URI&0T o ATeIH I B BT b pId 8|

36) “Assessment of learning” does not include: / "3ffERTH BT ipa-" ¥ | =i A8t

g

1. Evidence based assessment/ 1T TR 3ficher
2. Criteria based assessment/ AMGS SMUTRA fiba
3. Assessment of outcomes / URUIHI BT 3ficher

4. Mapping students’ progress/ EIEICEEIEIE ARSI

Correct Answer :-

- Mapping students’ progress/ EIBICEEIEIE ARSI

37) Which of the following statements is false about the collaborative learning

approach? / Rl & A &9 91 HYT JgUTHD FMRATH PP & IR A Tad 82
1. Social skills of learner are developed. / ﬁT&ﬂ?ﬁW AT OI?RIEZIG famid Eﬁ?ﬂ %I

2. Emotional skills of learner are developed. / e &1 H1aTHD d?lfllﬂ, famRid glar gl

3. Every student participates pro-actively in the task. / S[OILC7 S, b pE| @ b adr ¥ YT dal

gl
4. Dominance of the teacher is reduced. / R1&/® o1 UHTd HH 81 Srdl %I

Correct Answer :-
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. Every student participates pro-actively in the task. / TP B, B A QROI gfohgar ¥ YIT ol

gl

38) One of the following statements is true for the process of Roasting carried out during the
extraction of metals from their ores. Identify the true statement. /

frafafed & 3 e $y= e @ urgai & o & SR fre e yoia 9 uftrar & e T 81
39 I FYT B Uga™ |

1. Roasting is used for Carbonate ores. / 'J-I\_ITT'T Gl G"CITﬁTI fb—lﬁﬁaf W & T%TQ fopar Srdr %I

2. Roasting is not used for Sulphide ores. / H\_Sf:f Gl B'CI'CnT[ Jehlgs 3TTHI & ]%I'Q :lé)fﬁﬁﬂ SIldTl %I
3. The ore is heated in the presence of air. / 3IIDH ®I g4l B Iurfad # T fpar San % I

4. The ore is heated in the absence of air. / 3D DI Bdl G| W o 1w fomar ST %I

Correct Answer :-

 The ore is heated in the presence of air. / {IIH P 'dl &I Iuffa & 7H fovar Sran %I

39) If the speed of sound is 340 m/s and the echo is returned in 3.5s , then the distance of the
reflecting rock from the sound source is: /

ul%wwﬁ;ﬁwﬁrsmtﬂa/@%%eﬁ?s.sﬁ%ﬁuﬁrwﬁmmﬁ%&hwﬁ@aaﬁuﬁrwﬁamﬁmﬁ
TEE P gl &

1. 595m / 595 HIcx
2.1190m / 1190 HIX
3.170m / 170HIeR

4. 955m / 955 Hiex

Correct Answer :-

+ 595m /595 HIcR

40) The unit “hertz” is the SI unit of the physical quantity: /
rgea = # A fp ifas wen &Y ue (Twans) @S §:

1. Sound / @

2. Frequency / Gi'lqﬁf

3. Period / 3{afY

4. Amplitude / 3TITH

Correct Answer :-

o Frequency / \’rﬂqﬁf

41) A train decreases its speed from 144 km/h to 72 km/h in 4s. The acceleration of the train is: /

TP 3 U T 4 35T A 144 /e @ 72 B/ Uer 9@ 9 A R, 29 BT @wor 8-


https://applink.adda247.com/d/XhqWf9lSap

e
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1. -5 m/s?
2.5m/s?

3. 10m/s?

4. -10m/s?
Correct Answer :-

¢ -5m/s?

42) A ray of light is incident on the glass slab at an angle of incidence 30°, the angle of emergence will
be:/

TP B T fe0r 2D Y v U W 30° F AT S0 W mufad St ], wbT Sgw fig &1 Bior ghm:
1. 60°
2.45°
3.30°

4, 15°

Correct Answer :-
« 30°

43) The interval between the melting point of ice and the boiling point of water in Celsius scale is divided into: /
AfRTg Wb & ur & YA 3R 6 F ToAie P S Jfavrd 99 faHTferd giar 8:

1. 180 equal parts / 180 SRTaX et

2. 273 equal parts / 273 IR et

3. 100 equal parts / 100 SRTSR fgxgi

4. 120 equal parts / 120 TR gt

Correct Answer :-
« 100 equal parts / 100 IR fewat

44) Use of agriculture farming system,with minimum or no use of chemicals,use of maximum input of
manure,farmwastes and bioagents is known as /

AW 1 31 T & v @) Sy goned S1 v, @ig & iftrean fFaw, p SRy iR 99 R @1
SUIRT HgdTal §

1. Genetic manipulation. / WW
2. Organic farming. /@H@ﬁf

3. Biofertilizer farming. / Wﬁ

4. Biochemical farming. /@W?ﬁ

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
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« Organic farming. /@a@fﬁ

45) CANCELLED

We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

i # geb W1 BUST H g IRIP ARTISHS HETH Hd & FIfPb Mg W & $US &

1. Light coloured cloths absorbs more heat radiaﬁon/m 3T %Tﬁc@, 3T o fafhRur B Sra=nfiyd Hd
g

2. Light coloured cloths absorbs less heat radiation / Scab JN®H ObLIST, me?ﬁ Wﬁﬁﬁ%l

3. Dark coloured cloths radiate more heat radiation /TI_EQ T %m aﬁ%wﬁw, ﬁﬁ?ﬁ_d Wﬁ %I

4. Light coloured cloths absorbs more moisture / 8 1T & HUS 3Hfd TH BT aNf¥T B B

Correct Answer :-

« Light coloured cloths absorbs less heat radiation / Scab ISP Obq\%, HH S fafesr ) aa&ﬁf&amﬁ%

46) CANCELLED

What will happen if a small sheet of paper is tightly wound over at one end of a long iron rod and the same
end is placed over a candle flame? /

T NI 3R BRTS B TP BIc] ATGY, TP od 6 Bl B8 & TP B TR AP 1Y &I STl & 3
S TS & g BR W TP WA 31 & Bt TATHR 7@T o1l 82

1. Only some portions of the paper will burn off. /
Had PRIl & S g8 oI SaT |

2. The paper will not burn off since iron is a good conductor. /
BTl Ta] ST Sifds SR U 3] [aHde® ¢ |

3. The paper will burn off since it is an insulator. /
BT STl STET s I8 fadarea |

4, The flame of the candle will put off. /

e Bl g7 e |

Correct Answer :-

« The paper will not burn off since iron is a good conductor. /

BTN Tl ST Hifh 3R U 3131 fades g

47) CANCELLED

Which group of organisms are not constituents of a food chain ?/

tal &1 B I TG W Y&l & 4P 181 82

1. Frog, snake, grass, eagle, grass hopper / J?I.(éob, ﬁq, I, anQ'I, |é§|


https://applink.adda247.com/d/XhqWf9lSap

e
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2. Lion, rabbit, grass, wolf/ '@T, @R‘“QI, LIRS ‘ﬂ'%'cﬂ
3. Snake, grass, wolf, tiger / Iy, U, ﬂﬁ-ﬂT, diy

4. Man, plankton, fish, grass hopper / HI-d, Widd, Hi9(‘1r\l, léél

Correct Answer :-

. Snake, grass, wolf, tiger / Y, 974, ﬂ'%'m, dy

48) CANCELLED

.1 TSR T # I av uerd &1

Liquids in spherical containers should be placed

@I ST 918 ¢

1. near a water source in the lab / TOTRITAT H UT & Uh I & U
2. near the window / @C‘,@Qf & gHIg

3.in dark / 3{ER ¥

4.in open shelves / E?ﬂ Tl |

Correct Answer :-

. in dark / 3R H

49) CANCELLED

Aforce of 10N is acting on the body and the body displaces through 5m normal to the direction

of application of the force as shown in the given figure. Find the work done. /

10N &7 U o, Ush e 9 FRRd & 3R I8 BU 70 &7 & 3608R, a0 & e gl & Gan
A 5 MY @A T § faenfia gidr 81 frd=m St gam aa H

l F=10N

I g

5=5m

1.-501J
2.251
3.501J

4.0J

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
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50) Combustible materials can be disposed off through / a%mzﬂa mﬁﬁm%mmﬁ e i
qhd g

1. Composting / HIOIRET

2. Recycling / IRdh U]
3. Dumping / SfF&To

4, Incineration / HRHTHRT

Correct Answer :-

« Incineration / HIEDHIOT

51) The anhydride of H3PO4 is: /
H3PO, &1 TEISSISS &:

1. PCl4

2. PCl;

3. PHj

4, P,O5

Correct Answer :-

« P05

52) Among the following ecosystems, man made ecosystem is /
Frafafea uitfRufos @ & |, arma i oifRufest @ 8

1. Garden / &t

2. Ponds / dIdld

3. Forests / SiTd
4. Lakes / Siid

Correct Answer :-

« Garden / ST

53) Vibro-tactile aids are used for students. / fas)-¢aeTSd Heg BT IUANT
oEl & fore far smar g1

1. mentally ill / AFRI® ¥U I dHR
2. dumb / 7T

3. deaf / 98X

4. blind / 3


https://applink.adda247.com/d/XhqWf9lSap

e
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Correct Answer :-

. deaf/ §EX

54) The statement “the electrical resistance of a metal increases with temperature” is a: /

FY: U BT gy ufRly, I A e’ Td _ #I
1. Concept / SAYRUI

2. Theory / Rrgid

3. Principle / o

4. Hypothesis / Rl

Correct Answer :-

. Principle / a9

55) Herbarium is a dry preservation of . ] gRaH BT TP Y[CH HIEUT g
1. fishes / ATl

2. bird feathers / q&‘ﬁ & U]
3. herbs / \_Ilébf qi%ﬁr
4, plants / tﬁ%ﬁ

Correct Answer :-

. plants / tﬁ?ﬁ

56) Which one of the following is not an advantage of the Heuristic method of teaching? /

fFafafaa 3 @ o1 R 3t sgiifes fafy &1 v av 78 @2

1. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / U

oIt UfhdT 1M & ATd, T8 Ueb [MiYd 0 3fafe & RuiRa uredshd &1 {1 - & Jgrd]
IR ADHA G|

2. It helps in developing creativity in the learners /g Rrenfiat o TS T fawm i &x- o
ECEACRG ]

3. The students develop the power of observation. / I H adih &l Yfad fasRid Eﬁ?ﬁ %I

4. Self-activity is used for gaining knowledge. / T UTW R & fo1Q Wa-Tiffafe 1 IuaT
far STaT 8|

Correct Answer :-

. Being a fast process, it can help to cover the prescribed syllabus in a specific time period. / Udh

o UfehdT 811 & Td, T8 U (MiSd w0 3fafey & Fufikd Ireashd &1 1 - H el
RGPl g



https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

57) Which of the following types of question should be used by a science teacher to assess
the ability of a student to summarize and integrate the ideas? / FgffR@a A A fFT PR &
Y BT SUART, TP FAgT Rierd gR1 AR &) TaY 3R tPipd B3 8d TP BT B &1 S1
e B & fore fvar s afge?

1. Selection type objective question / I Gl m‘gﬁg ¥
2. Supply type objective question / 3‘”@ ara aﬁﬁg Uy
3. Short answer type question / ¢ 31X GRS
4. Long answer type question / e IR AT Uy

Correct Answer :-

« Long answer type question / &Y IR ara Uy

58) Which of the following is a biotic factor?/
fFrafafea # 9 o9 91 Sfae R 82
1. Microbes/il‘ U]

2. water / SIdl

3. Soil / Trgt
4, Air /d1g
Correct Answer :-

. Microbes/i“ U]

59) Perseverance is an attribute that: / ¢dl T fawar g -
1. Allows repeated opportunities for success / Hh ddl & ToTE IR-SR 3a¥R <ot %l
2. Gives success in single attempt / T éjf TN § g dd] a?ﬁ % |

3. Leads to continuous success / RO gwadl &t maﬁﬁ‘ﬂél

4. Makes one narrow minded towards work / PTH & Ufd Ipivt g AfHd sl % |

Correct Answer :-

. Allows repeated opportunities for success / Hh cdl & iU IR-ER 3faWR <ot %I

60) Which of the following is NOT true of performance-based assessments? / ﬁ'ﬁﬁ'@ﬁ A7

P UG-G TP a T I g) 872

1. It measures students ability to apply the knowledge learnt / g B GRI ARG T IA DI @ ]
PR D & BT AU G|

2. It is simple and non-authentic / g XA G?R ﬁ?-umﬁm %I



https://applink.adda247.com/d/XhqWf9lSap

Adda

3. It is open-ended and time-bound / g '@?ﬂ-\?ﬁf (W—Q\%S) 3R JHY-d& %I
4.1t is process/product oriented/ g Ufehar / Idie 3HY % [

Correct Answer :-

« It is simple and non-authentic / g AT GhT ﬁT-EITITﬁW %I
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